
  

D–1660   

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F and C) DEGREE 
EXAMINATION, DECEMBER 2021. 

First Semester 

Commerce 

MANAGEMENT CONCEPTS  

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Management? 

 ÷©»õsø© GßÓõÀ GßÚ? 

2. Define the term Planning. 

 vmhªkuÀ GÝ® £uzøu Áøμ¯ÖUP. 

3. What is formal organisation? 

 •øÓ¯õÚ Aø©¨¦ GßÓõÀ GßÚ? 

4. What is meant by decentralisation? 

 £μÁ»õUP® £ØÔ AÔÁx GßÚ? 

5. What is staffing? 

 £o¯õÍº {¯©Ú® GßÓõÀ GßÚ? 

Sub. Code 
31011/33511
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6. What is meant by communication? 

 uPÁÀ&öuõhº¦ Gß£uß ö£õ¸Ò ¯õx? 

7. What is meant by co-ordination? 

 J¸[Qøn¨¦ £ØÔ AÔÁx GßÚ? 

8. Define the term directing. 

 C¯USÂzuÀ GÝ® £uzøu Áøμ¯ÖUP. 

9. What is Business Ethics? 

 ÁoP ö|Ô•øÓPÒ GßÓõÀ GßÚ? 

10. What do you mean by TQM? 

 TQM  £ØÔ }Âº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the nature of management. 

  ÷©»õsø©°ß ußø©PøÍ ÂÍUSP. 

Or 

 (b) Briefly explain the various types of policies. 

  öPõÒøP°ß £À÷ÁÖ ÁøPPøÍ _¸UP©õP ÂÁ›UP. 

12. (a) What are the advantages of functional organisation?  

  ö\¯À£õmk Aø©¨¤ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the principles of departmentation? 

  xøÓ©¯©õUPzvß ÷Põm£õkPÒ ¯õøÁ? 
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13. (a) Briefly describe the various steps involved in 
delegation. 

  J¨£øhÂÀ Ah[Q²ÒÍ £À÷ÁÖ £i{ø»PøÍ 

_¸UP©õP ÂÁ›UP. 

Or 

 (b) State the functions of a leader. 

  J¸ uø»ø© HØ£Á›ß £oPøÍ TÖP. 

14. (a) Explain the different forms of oral communication. 

  Áõ´ö©õÈ uPÁÀ&öuõhº¤ß £À÷ÁÖ £iÁ[PøÍ 

ÂÍUSP. 

Or 

 (b) Explain the importance of co-ordination. 

  J¸[Qøn¨¤ß •UQ¯zxÁzøu ÂÍUSP. 

15. (a) What are the objectives of management audit? 

  ÷©»õsø© uoUøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Write short notes on strategic alliance. 

  ~m£Â¯À CønÄ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various functions of management. 

 ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

17. Describe the various process of decision making. 

 •iöÁkzu¼ß £À÷ÁÖ ö\¯À•øÓPøÍ ÂÁ›UP. 
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18. Describe Maslow’s theory of motivation. 

 ©õì÷»õÂß FUSÂzuÀ ÷Põm£õmiøÚ ÂÁ›UP. 

19. Explain the different types of leadership styles in brief. 

 uø»ø©zxÁzvß £À÷ÁÖ ÁøP¯õÚ £oPøÍ _¸UP©õP 

ÂÁ›UP. 

20. What are the causes for poor management information 
system? 

 ¤ßu[Q¯ ÷©»õsø© uPÁÀ •øÓUPõÚ Põμn[PÒ 

¯õøÁ? 

—————— 



  

D–1676   

DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, DECEMBER 2021. 

First Semester 

Finance and Control 

BUSINESS LAW 

 (CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10  2 = 20 marks) 

Answer ALL the questions. 

1. What are the essential elements of a valid contract? 

2. What do you mean by acceptance? 

3. Who is a common carrier? 

4. What are unilateral mistakes? 

5. Give short note on void contracts. 

6. What are reciprocal promises? 

7. What is implied warranty? 

8. Define the term international carriage. 

9. What are the various types of partners? 

10. State the Quasi Contract. 

Sub. Code 
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PART B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Distinguish between void, voidable and illegal 
contracts. 

Or 

 (b) State the mode of dissolution. 

12. (a) Clearly explain the types of damages. 

Or 

 (b) Difference between conditions and warranties. 

13. (a) State the rights of Indemnifier. 

Or 

 (b) What are the various ways in which the agency is 
created? 

14. (a) Describe the rules regarding settlement of Accounts. 

Or 

 (b) How is the surety discharged? 

15. (a) Write a note as to public Notice. 

Or 

 (b) What are the rights and duties of Agent? 

PART C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. “Contract is an agreement enforceable by Law”- Discuss. 

17. Distinguish between the coercion and undue influence.  
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18. Discuss the rights and liabilities of a finder of goods. 

19. Write an explanatory note on implied condition and 
implied warranty. 

20. Examine the important provisions of the Railways Act, 
1989 relating to carriage of goods. 

  

 ———————— 



  

D–1662   

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F and C) DEGREE 
EXAMINATION, DECEMBER 2021. 

First Semester 

Commerce 

ADVANCED ACCOUNTING 

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define Accounting. 

 PnUQ¯ø» Áøμ¯ÖUP. 

2. What is posting? 

 GkzöuÊxuÀ GßÓõÀ GßÚ? 

3. What is meant by conversion method? 

 ©õØÖuÀ •øÓ £ØÔ AÔÁx GßÚ? 

4. What is average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

5. What is meant by Red Ink Interest? 

 ]Á¨¦ ø© Ámi £ØÔ AÔÁx GßÚ? 

Sub. Code 
31013/33513
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6. What is income and expenditure account? 

 Á¸Áõ´ ö\»ÂÚ PnUS GßÓõÀ GßÚ? 

7. Mention any two objectives of providing depreciation. 

 ÷u´©õÚzøu E¸ÁõUSÁuß H÷uÝ® Cμsk 

÷|õUP[PøÍU TÖP. 

8. What is meant by short workings? 

 SøÓ EØ£zv £ØÔ AÔÁx GßÚ? 

9. What do you mean by Inter-departmental transfer? 

 xøÓPÐUS Cøh÷¯¯õÚ ©õØÓ® £ØÔ }Âº AÔÁx GßÚ? 

10. Define the term Hire Purchase. 

 ÁõhøP öPõÒ•uÀ GÝ® £uzøu Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What is meant by Accounting? State its advantages. 

  PnUQ¯À £ØÔ AÔÁx GßÚ? AuÝøh¯ 

|ßø©PøÍ TÖP. 

Or 

 (b) Distinguish between Journal and Ledger. 

  SÔ¨÷£k  ©ØÖ® ÷£÷μmøh ÷ÁÖ£kzxP. 
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12. (a) The following are the account balance of Kumar 
Agency after preparing Trading and Profit and Loss 
a/c for the year ending 31st December 2014. 

 Rs.  Rs. 

Land and building  20,000 Furniture  6,000

Closing stock  13,000 Bills payable  14,000

Cash in hand  7,500 Bank loan  15,000

Cash at bank  2,200 Sundry creditors  16,000

Sundry debtors  12,000 Salaries outstanding 1,200

Bills receivable  5,300 Drawings  3,000

Insurance prepaid  200 Capital  30,000

Machinery  14,000 Net profit of the year 7,000

  Prepare balance sheet of Kumar Agency. 

  ¤ßÁ¸® ÂÁμ[PÒ i\®£º 31, 2014 B® BsiÀ 

Â¯õ£õμ  ©ØÖ® C»õ£ |mhU PnUøP u¯õ›zu ¤ÓS 

S©õº HöáßêUS›¯x. 

 ¹.  ¹. 

{»® ©ØÖ® Pmih® 20,000 AøÓP»ß 6,000

CÖv \μUQ¸¨¦ 13,000 ö\¾zuØS›¯ ©õØÖa^mk 14,000

øP°¸¨¦ öμõUP® 7,500 Á[Q Phß 15,000

Á[Q°¸¨¦ öμõUP® 2,200 £Ø£» PhÜ¢÷uõºPÒ 16,000

£Ø£» PhÚõÎPÒ 12,000 \®£Í® öPõk£h ÷Ási¯x 1,200

ö£ÖuØS›¯ ©õØÖa^mk 5,300 Gk¨¦PÒ 3,000

•ßTmi ö\¾zv¯ Põ¨¥k 200 •uÀ 30,000

C¯¢vμ® 14,000 AÆÁõsøh¯ {Pμ C»õ£® 7,000

  S©õº Höáßê°ß C¸¨¦ {ø»U SÔ¨ø£ u¯õ›UP. 

Or 
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 (b) Mr. Ravi draws a bill for Rs. 2,000 on Mr. Gopal on 
15th September for three months. On maturity, 
Gopal failed to honour the Bill. Pass the journal 
entries in the books of Ravi and Gopal, if he had 
retained the bill with him till maturity. 

  ö\¨h®£º 15 AßÖ ‰ßÖ ©õu Põ»zvØS v¸. ÷Põ£õÀ 

«x v¸. μÂ Gß£Áº ¹. 2,000 ö£Ö©õÚ J¸ 

©õØÖa^møh GÊvÚº. •vºÄ ÷uv°À A¢u 

©õØÖ^møh ÷Põ£õÀ ©vUP uÁÔÚõº. •vºÄ 

÷uvÁøμ ©õØÖa ^møh μÂ ußÛh® øÁzv¸UQÓõº 

GÛÀ μÂ ©ØÖ® ÷Põ£õ¼ß HkPÎÀ SÔ¨÷£mk 

£vÄPøÍ u¸P. 

13. (a) Find out the average due date of the following bills 
accepted by a trader who wishes to settle them with 
one single payment. 
Date of bill Amount of  

bill (Rs.) 
Due date 

01.04.2016 800 06.06.2016

30.04.2016 1,000 03.08.2016

03.06.2016 400 06.07.2016

15.06.2016 600 18,09.2016

  J÷μ uÁøn°À £nzøu ö\¾zu Â¸®¦® J¸ 

ÁoP›ß  ¤ßÁ¸® ©õØÖa^mkUS \μõ\› uÁøn 

|õøÍ PõsP. 

©õØÖa^miß ÷uv ©õØÖa^miß 

öuõøP (¹.) 

•vºÄ ÷uv 

01.04.2016 800 06.06.2016

30.04.2016 1,000 03.08.2016

03.06.2016 400 06.07.2016

15.06.2016 600 18,09.2016

Or 
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 (b) A company purchased a plant of Rs. 40,000 on 1st 
April 2011, it is depreciated at 10% per annum on 
reducing balance for three years. Show the plant 
account for three years ending 31st March every 
year. 

  J¸ {Ö©©õÚx H¨μÀ 1, 2011 AßÖ J¸ ö£õÔø¯ 

Áõ[Q¯x. AuØS ‰ßÖ BskPÍõP Bsk ÷uõÖ® 

10% ÷u´©õÚ®  }UQ¯x. JÆöÁõ¸ Bsk® ©õºa 

31CÀ PnUS •i¨£uõP öPõsk ‰ßÖ 

BskPÐUS ö£õÔ PnUøP PõmkP. 

14. (a) A & Co. of Tirunelveli consigned 1000 radios at  
Rs. 700 each to B & Co. of Madurai. The consignors 
paid freight Rs. 750, cartage Rs. 50 and insurance 
Rs. 200. B & Co. received 900 radios only and 
incurred the following expenses: Octroi and other 
expenses Rs. 1,000; Cartage Rs. 800; Selling 
expenses Rs. 600. The consignee sold 600 radios 
only. You required to find out the value of closing 
stock. 

  v¸ö|À÷Á¼°¾ÒÍ A & ÷Põ ©xøμ°¾ÒÍ  

B & ÷PõÂØS JßÖ ¹. 700 Ãu® 1000 ÁõöÚõ¼ 

ö£miø¯ AÝ¨¥k ö\´ux. AÝ¨¥k ö\´|º 

\zuzvØPõP ¹. 750®, yUS T¼UPõP ¹. 50® 

Põ¨¥kUPõP ¹. 200® ö\»Ä ö\´ux. B & ÷Põ 900 

ÁõöÚõ¼ ö£miø¯ ©mk® ö£ØÖ ¤ßÁ¸® 

ö\»ÄPøÍ ö\´ux. G›ÁÎ ©ØÖ® Cuμ ö\»ÂÚ[PÒ 

¹. 1,000•®, yUS T¼ ¹. 800® ÂØ£øÚ 

ö\»ÂÚ[PÒ ¹. 600 BS®. AÝ¨¥k ö£Ö|º 600 

ÁõöÚõ¼ ö£miø¯ ©mk® ÂØ£øÚ ö\´ux. CÖv 

\μUQ¸¨¤ß ©v¨ø£ }Âº PõsP. 

Or 
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 (b) What is recoupment of short working? Explain its 
types. 

  SøÓ EØ£zv «m¦ GßÓõÀ GßÚ? CuÝøh¯ 

¤›ÄPøÍ ÂÍUSP. 

15. (a) The following details relating to Madurai Branch. 
 Rs.  Rs. 

Opening stock 11,200 Goods sent to branch 51,000

Opening debtors 6,300 Cash expenses 5,000

Cash from debtors 41,200 Stock at end 13,600

Cash Sales 25,000 Credit sales 39,000

  Prepare Branch Account. 

  ¤ßÁ¸® ÂÁμ[PÒ ©xøμ QøÍUS›¯x. 

 ¹.  ¹. 

öuõhUP \μUS 11,200 QøÍUS AÝ¨¤¯ \μUS 51,000

öuõhUP PhÚõÎPÒ 6,300 öμõUP ö\»ÄPÒ 5,000 

PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 41,200 CÖv \μUS 13,600

öμõUP ÂØ£øÚ 25,000 Phß ÂØ£øÚ 39,000

  QøÍ PnUøP u¯õ›UPÄ®. 

Or 

 (b)  From the H.O. at Chennai goods were invoiced to 
branch at Salem at cost plus 20%. From the 
following particulars prepare branch account in H.O 
books. 

 Rs. 

Goods sent to Branch 2,11,872

Total Sates 2,06,400

Cash Sales 1,10,400

Cash received from branch debtors 88,000
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 Rs. 

Branch Debtors on 1.1.2016 24,000

Branch stock on 1.1.2016 7,680

Branch stock on 31.12.2016 13,440

  ö\ßøÚ uø»ø© A¾Á»Pzv¼¸¢x ÷\»® QøÍUS 

\μUSPÒ AhUPÂø»°À 20% ÷\ºzx 

£mi¯¼h¨£kQÓx. RÌUPsh Â£μ[PÎÀ C¸¢x 

uø»ø© A¾Á»P ¦zuPzvÀ QøÍU PnUøP u¯õº 

ö\´P. 

 ¹. 

QøÍUS \μUS AÝ¨¤¯x 2,11,872

ö©õzu ÂØ£øÚ 2,06,400

öμõUP ÂØ£øÚ 1,10,400

QøÍU PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 88,000

1.1.2016À QøÍ PhÚõÎPÒ 24,000

1.1.2016À QøÍ \μUS 7,680

31.12.2016À QøÍ \μUS 13,440

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between single entry system and double 
entry system. 

 JØøÓ £vÄ •øÓ ©ØÖ® Cμmøh £vÄ •øÓø¯ 

÷ÁÖ£kzxP. 



D–1662 
    8

17. From the following trial balance and adjustment of Thiru. 
Gokulnath prepare his final accounts as on 31.12.2016. 

Particulars Rs. Particulars Rs. 

Opening Stock 20,000 Capital 1,00,000

Machinery 40,000 Purchase Returns 1,000

Purchases 70,000 Sales 90,000

Sales Returns 1,000 Creditors 29,000

Wages 2,000   

Salaries 5,000   

Office Rent 2,000   

Insurance 1,000   

Debtors 50,000   

Cash 4,000   

Bank 25,000   

 2,20,000  2,20,000

 Adjustments : 

 (a) Closing Stock is valued at Rs. 20,000 

 (b) Outstanding salaries Rs. 1000 

 (c) Prepaid insurance Rs. 500 

 (d) Bad debts Rs. 1,000 

 (e) Provide 10% depreciation on Machinery 

 v¸. ÷PõSÀ |õz Gß£Á›ß ¤ßÁ¸® C¸¨¦ ÷\õuøÚ 

©ØÖ® \›Pmkuø» öPõsk AÁ¸øh¯ CÖv PnUøP 

31.12.2016 AßÖ u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ  ¹. 

öuõhUP \μUQ¸¨¦ 20,000 •uÀ 1,00,000

C¯¢vμ® 40,000 öPõÒ•uÀ v¸¨£® 1,000

öPõÒ•uÀ 70,000 ÂØ£øÚ 90,000
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ÂÁμ[PÒ ¹. ÂÁμ[PÒ  ¹. 

ÂØ£øÚ v¸¨£® 1,000 PhÜ¢÷uõºPÒ 29,000

T¼ 2,000   

\®£Í® 5,000   

A¾Á»P ÁõhøP 2,000   

Põ¨¥k 1,000   

PhÚõÎPÒ 50,000   

öμõUP® 4,000   

Á[Q 25,000   

 2,20,000  2,20,000

 \›PmkuÀPÒ : 

 (A) CÖv \μUQ¸¨£õÚx ¹. 20,000 GÚ ©v¨¤h¨£mhx 

 (B) öPõk£h ÷Ási¯ \®£Í® ¹. 1,000 

 (C) •ßTmi ö\¾zv¯ Põ¨¥k ¹. 500 

 (D) ÁõμõUPhß ¹. 1,000 

 (E) C¯¢vμzvß «x 10% ÷u´©õÚ® E¸ÁõUSP. 

18. The following particulars related to Beeman sports club 
for the year ended 31.12. 2018. 

Receipts   Rs.  Payments  Rs. 
To Balance b/d  600 By Salaries  1,245
To Subscriptions :   By Stationery  240
Arrears   24  By Rates and taxes 360
Current  1,266  By Telephone  60
Advance  48 1,338 By Investments  750
To profit from canteen   900 By Advertisements 105
To Miscellaneous   45 By Postage  100
To sell old news papers   112 By Sundries  350
To Dividends   485 By Balance c/d   270
  3,480  3,480
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 You are required to prepare an Income and Expenditure 
account and Balance sheet after making the following 
adjustments 

 (a) There are 450 members each paying an annual 
subscription of Rs. 3; Rs. 27 being in arrears for 
2017 at the beginning of this year. 

 (b)  Stock of stationery on 31st December 2017 was  
Rs. 30; On 31st December 2018 Rs.54. 

 (c) Cost of buildings is Rs. 6,000. Depreciation at the 
rate of 5% 

 ¤ßÁ¸® Â£μ[PÍõÚx 31.12.2018&B® Bs÷hõk 

•iÁøh²® ¥©ß ÂøÍ¯õmk PÇPzvØS›¯x. 

ö£ÖuÀPÒ   ¹. ö\¾zxuÀPÒ  ¹. 

C¸¨¦ R/öPõ  600 \®£Í® 1,245

\¢uõ   GÊxö£õ¸Ò 240

{¾øÁ 24  Ãu[PÒ ©ØÖ® Á›PÒ 360

|h¨¦ 1,266  öuõø»÷£] 60

•ß£n® 48 1,338 •u½kPÒ 750

]ØÖsi°¼¸¢x C»õ£®  900 ÂÍ®£μ[PÒ 105

£Ø£» CÚ[PÒ  45 u£õÀ ö\»Ä  100

£øÇ¯ ö\´vzuõøÍ ÂØÓx  112 £Ø£» CÚ[PÒ 350

£[Põuõ¯®  485 C¸¨¦ R/C 270

  3,480  3,480

  ¤ßÁ¸® \›PmkuÀPøÍ PnUQÀ öPõsk Á¸Áõ´ 

ö\»ÂÚ PnUøP²®, C¸¨¦{ø»U SÔ¨ø£²® u¯õº 

ö\´P. 

 (A) ö©õzu® 450 EÖ¨¤ÚºPÒ EÒÍÚº. JÆöÁõ¸ Á¸® 

ö\¾zuUTi¯ Bsk \¢uõ ¹. 3. 2017UPõÚ \¢uõ 

CÆÁõsk öuõhUPzvÀ ¹. 27 {¾øÁ¯õP C¸¢ux.  
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 (B) 31 i\®£º 2017 AßøÓ¯ GÊxö£õ¸Îß C¸¨¦  

¹. 30. 31 i\®£º 2018 AßøÓ¯ GÊxö£õ¸Ò C¸¨¦ 

¹. 54. 

 (C) Pmihzvß AhUP ©v¨¦ ¹. 6,000. 5% ÷u´©õÚ® 

E¸ÁõUSP. 

19. From the following data, prepare departmental Trading 
and profit and loss account for the year ended 31.12.2018 

 Dept. A (Rs.) Dept. B (Rs.)

Stock (January 1 ) 40,000 –

Purchases from outside   2,00,000 20,000

Wages  10,000 1,000

Transfer of goods from Dept. A – 50,000

Stock (Dec. 31) at cost of the Department 30,000 10,000

Sales to outsiders  2,00,000 71,000

 B’s entire stock represents goods from Dept. A which 
transfers them at 25% above its costs. Administrative 
and selling expenses amounted to Rs. 15,000 which are to 
be allocated between departments A and B in the ratio of 
4:1 respectively. 

 ¤ßÁ¸® uPÁÀPøÍU öPõsk xøÓÁõ›¯õÚ Â¯õ£õμ 

©ØÖ® C»õ£ |mhU PnUøP 31.12.2018 B® BskUS 

u¯õ›UPÄ®. 

 xøÓ A (¹.) xøÓ B (¹.)

\μUS (áÚÁ› 1) 40,000 –

öÁÎ°À öPõÒ•uÀ ö\´ux 2,00,000 20,000

T¼ 10,000 1,000

xøÓ A-&°¼¸¢x \μUS ©õØÓ® – 50,000

CÖv \μUS (i\®£º 31) AhUPÂø»°À 30,000 10,000

öÁÎ |£ºPÐUS ÂØÓx 2,00,000 71,000
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 xøÓ B°ß \μUS •ÊÁx® xøÓ A°¼¸¢x 

AhUPÂø»÷¯õk 25% Tku»õP ©õØÓ® ö\´¯¨£mhx. 

{ºÁõP ©ØÖ® ÂØ£øÚ ö\»ÄPÒ öuõøP ¹. 15,000 xøÓ A 

©ØÖ® xøÓ BUS 4 : 1 GßÓ ÂQu¨£i 

£Qº¢uÎUP¨£kQÓx. 

20. Malan purchased a machine on Hire Purchase System on 
1st January 2013. The terms of payment are four annual 
instalments of Rs. 12,690 at the end of each year. Interest 
is charged @ 5% and is included in the annual payment of 
Rs 12,690. 

 Show machinery account and hire vendor account in the 
books of Malan who defaulted in the payment of the third 
yearly payment where upon the vendor reposed the 
machinery. Malan provides depreciation on the 
machinery @ 10% pa. on reduced balance. 

 áÚÁ› 1, 2013À ©õ»ß J¸ C¯¢vμzøu ÁõhøPU 

öPõÒ•uÀ •øÓ°À Áõ[QÚõº. öPõkzu¼ß \μzxPÍõÁÚ: 

JÆöÁõ¸ Bsk •iÂ¾©õP ¹. 12,690 |õßS Bskz 

uÁønPÍõP ö\¾zxuÀ ©ØÖ® Ámi 5% Á`¼UP¨£kQÓx. 

Ax Bsk ö\¾zxuÀ öuõøP¯õÚ ¹. 12,690&À 

÷\º¢xÒÍx. 

 ©õ»Ûß ¦zuPzvÀ C¯¢vμU PnUøP²®, ÁõhøP 

ÂØ£øÚ¯õÍº PnUøP²® Põs¤UPÄ®. ‰ßÓõÁx 

Bskz uÁønø¯ AÁº Pmhz uÁÔ¯uÚõÀ 

ÂØ£øÚ¯õÍº C¯¢vμzøu v¸®£ GkzxU öPõshõº, 

©õ»ß C¯¢vμzvß SøÓÄ C¸¨¤ß «x BskUS 10% 

÷u´©õÚ® AÝ©vUQÓõº.  

 

—————— 



 

  

D–1663     

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F and C) DEGREE 
EXAMINATION, DECEMBER 2021. 

First Semester 

Commerce 

BUSINESS ENVIRONMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term Business Environment. 

 ÁoPa _ØÖa`ÇÀ GÝ® £uzøu Áøμ¯ÖUP. 

2. What is meant by Social responsibility? 

 \•uõ¯¨ ö£õÖ¨¦ £ØÔ AÔÁx GßÚ? 

3. What is Capitalism? 

 •u»õÎzxÁ® GßÓõÀ GßÚ? 

4. What is meant by industrial policy? 

 öuõÈØ öPõÒøP £ØÔ AÔÁx GßÚ? 

5. What do you mean by Patent? 

 Põ¨¦›ø© £ØÔ }Âº AÔÁx GßÚ? 

6. Expand : WTO and SIDCO. 

 Â›ÁõUS WTO ©ØÖ® SIDCO. 
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7. Who is a Consumer? 

 ~Pº÷Áõº Gß£Áº ¯õº? 

8. State any two features of Globalisation. 

 E»P©¯©õUP¼ß ]Ó¨¤¯À¦PÎÀ H÷uÝ® CμsiøÚU 

TÖP. 

9. What is meant by MNC? 

 MNC £ØÔ AÔÁx GßÚ? 

10. Define Public Distribution System. 

 ö£õx Â{÷¯õP •øÓ Gß£øu Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) What is internal environment? Explain its various 
factors. 

   AP _ØÖa`ÇÀ GßÓõÀ GßÚ? AuÝøh¯ £À÷ÁÖ 

PõμoPøÍ ÂÁõvUP. 

Or 

 (b) State the relationship between economic and  
non-economic environment. 

   ö£õ¸Íõuõμ® ©ØÖ® ö£õ¸Íõuõμ® \õμõu 

_ØÖa`Ç¾US Cøh÷¯¯õÚ EÓÄ•øÓø¯U TÖP. 

12.  (a) What are the differences between capitalism and 
socialism? 

   •u»õÎzxÁzvØS® ©ØÖ® ö£õx – Ehø©US® 

Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What are the significance of economic planning? 

   ö£õ¸Íõuõμ vmhªku¼ß •UQ¯zxÁ[PÒ ¯õøÁ? 
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13.  (a) What are the features of industry policy resolution 
1948? 

   öuõÈÀ öPõÒøP wº©õÚ® 1948–ß A®\[PÒ ¯õøÁ? 

Or 

 (b) What are the features of Globalisation? 

   E»P©¯©õUP¼ß A®\[PÒ ¯õøÁ? 

14.  (a) Analyse the need for a consumer movement. 

   ~Pº÷Áõº C¯UPzvß ÷uøÁPøÍ £S¨£õ´Ä ö\´P. 

Or 

 (b) State the advantages of Foreign Direct Investment. 

   A¢{¯ ÷|μi •u½miß |ßø©PøÍU TÖP. 

15.  (a) Distinguish between GATT and WTO. 

   GATT ©ØÖ® WTO I ÷ÁÖ£kzxP. 

Or 

 (b) What are the advantages of IMF? 

   IMF–ß |ßø©PÒ ¯õøÁ?  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the arguments for and against social 
responsibility of business. 

 ÁoPzvß \•uõ¯¨ ö£õÖ¨¦PÐUS \õuP©õÚ ©ØÖ® 

£õuP©õÚ Áõu[PøÍ ÂÁ›UP. 

17. List out the major achievements of economic planning in 
India. 

 C¢v¯õÂß ö£õ¸Íõuõμ vmhªh¼ß •UQ¯ \õuøÚPøÍ¨ 

£mi¯¼kP. 
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18. Bring out the problems of public and private sector in 
India. 

 C¢v¯õÂ¾ÒÍ ö£õx ©ØÖ® uÛ¯õº xøÓPÎß ]UPÀPøÍ 

öÁÎUöPõnºP. 

19. Briefly discuss the various functions of Commercial 
Banks. 

 ÁoP Á[QPÎß £À÷ÁÖ £oPøÍ _¸UP©õP ÂÁõvUP. 

20. Enumerate the various functions of World Bank. 

 E»P Á[Q°ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

———————— 
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DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, DECEMBER 2021. 

Second Semester 

Finance and Control 

OPERATIONS RESEARCH 

 (CBCS 2018 – 19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What is the scope of operations research? 

2. What is a redundant constraint? 

3. Define feasible solution. 

4. What is duality in LPP. 

5. Write a short notes on Transportation.  

6. What are Assignment problem? 

7. What is Integer programming? 

8. What is the distribution for service time? 

9. What are the uses of simulation? 

10. What is dummy activity? 
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PART B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the characteristics of a good model? 

Or 

 (b) What are slack variables and surplus variables? 

12. (a) How do you convert the dual to primal? 

Or 

 (b) Explain the significance of simulation in Model 
buildings. 

13. (a) What is critical path in PERT/CPM? Explain its 
importance. 

Or 

 (b) Solve the game whose pay-off matrix is given by 

   

  Player B 

  B1 B2 B3

 A1 1 3 1 

Player A A2 0 –4 –3

 A3 1 5 –1
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14. (a) Write Q ’s strategy using LPP.   

  











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



825
360

419

P  

Or 

 (b) Solve using matrix method.  

A  B 

  H    T 

 H    2    –1

 T    –1    0 

15. (a) Write down the dual of the following LPP. 

  Maximize 321 4125 xxxz   

  Subject to 52 321  xxx  

     232 321  xxx  

     0ix ; 

Or 

 (b) Explain the following: 

  (i) Payoff matrix 

  (ii) Saddle point 

PART C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. What are the parameters in the construction of an 
operations research problem? 

17. Distinguish between pure and mixed integer 
programming problem. 
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18. Solve the following LPP by simplex method. 

 Minimize 21 28 xxZ   

 Subject to 124 21  xx  

    345 21  xx  

   and 0, 21 xx .    

19. Find the initial basic feasible solution for the following 
transportation problem by least cost method. 

   To  Supply

 1 2 1 4 30 

From 3 3 2 1 50 

 4 2 5 9 20 

Demand 20 40 30 10  

20. Four different jobs can be done on four different 
machines. The set up and take down time costs are 
assumed to be prohibitively high for changeovers. The 
matrix below gives the cost in rupees of processing job  
i on machine j. 

  Machines 

  M1 M2 M3 M4

 J1 5 7 11 6 

J2 8 5 9 6 
Jobs 

J3 4 7 10 7 

 J4 10 4 8 3 

 How should the jobs be assigned to the various machines 
so that the total cost is minimized? 

———————— 
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DISTANCE EDUCATION 

M.Com. (Finance and Control) DEGREE EXAMINATION, 
DECEMBER 2021. 

Second Semester 

 ORGANIZATIONAL BEHAVIOUR 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10  2 =20 marks) 

Answer ALL questions. 

1. Define organization behavior. 

2. What is downsizing? 

3. What are cognitive abilities? 

4. What is leadership? 

5. Define locus of control. 

6. Briefly explain Halo effect. 

7. Write a brief note on stereotyping. 

8. Define job stress. 

9. Distinguish between formal and informal communication. 

10. What are the various types of groups?  
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the theory of scientific management. Briefly 
describe the functions of management. 

Or 

 (b) Discuss the theory X and theory Y model. 

12. (a) Discuss the different levels of management and 
explain the required skills at each level. 

Or 

 (b) State and explain the factors influence the 
individual behavior. 

13. (a) Define perception. Explain the perceptual process. 

Or 

 (b) What is organizational culture? Explain the 
determinants of organizational culture. 

14. (a) Define communication barriers. Briefly explain the 
types of barriers in communication. 

Or 

 (b) What is organizational conflict? What are the 
causes for conflicts in organizations? 

15. (a) Explain the process of Management by Objectives. 
Also bring out the relative merits and demerits of 
MBO. 

Or 

 (b) Critically examine the line and staff authority 
concept with the help of a few examples. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different levels in management and how the 
scope of Authority and responsibility varies from one 
level to the other.  

17. How does the study of personality help in understanding 
organizational behavior? Write notes on any two theories 
of personality. 

18. Define emotional intelligence. What are the advantages 
and limitations of emotional intelligence? 

19. What are the potential problems in upward and 
downward communications? How managers are resolving 
these problems? 

20. Define knowledge management. Discuss the process of 
knowledge management. 

 

—————— 
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DISTANCE EDUCATION 

Common for M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, DECEMBER 2021. 

Second Semester 

Commerce 

ADVANCED  COST ACCOUNTING 

(CBCS 2018 – 19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL the questions. 

1. Define Costing. 

 AhUPÂø»°¯ø» Áøμ¯ÖUP. 

2. What is Economic Order Quantity? 

 ]UPÚ Bøn AÍÄ GßÓõÀ GßÚ? 

3. What is meant by Labour Turnover? 

 EøÇ¨¦ _ÇØ] £ØÔ AÔÁx GßÚ? 

4. What is Secondary Distribution? 

 Cμshõ® {ø» £QºÄ GßÓõÀ GßÚ? 

5. What is Contract Costing? 

 J¨£¢u AhUPÂø»°¯À GßÓõÀ GßÚ? 
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6. What is meant by Normal Loss? 

 \õuõμn |mh® £ØÔ AÔÁx GßÚ? 

7. What is Unit Costing? 

 A»S AhUPÂø»°¯À GßÓõÀ GßÚ? 

8. What is meant by Batch Costing? 

 öuõSv AhUPÂø»°¯À £ØÔ AÔÁx GßÚ? 

9. What is Standard Costing? 

 {ø»¯õÚ AhUPÂø»°¯À GßÓõÀ GßÚ? 

10. What is meant by Cost Control? 

 AhUP Pmk¨£õk £ØÔ AÔÁx GßÚ? 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) Prepare cost sheet form the following information: 

 Rs.  Rs. 

Materials consumed 20,000 Office overheads 16,000

Wages 18,000 Selling overheads 4,000

Works overheads 15,000 Sales 1,00,000

   RÌUPsh ÂÁμ[PÎ¼¸¢x AhUPÂø» uõÒ JßøÓ 

u¯õº ö\´P. 

 ¹.  ¹. 

ö£õ¸mPÒ £¯ß£kzv¯x 20,000 A¾Á»P ÷©Øö\»ÄPÒ 16,000

T¼ 18,000 ÂØ£øÚ ÷©Øö\»ÄPÒ 4,000

öuõÈØ\õø» ÷©Øö\»ÄPÒ 15,000 ÂØ£øÚ  1,00,000

Or 
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 (b) Calculate: 

  (i)  Minimum stock level  

  (ii)  Maximum stock level  

  (iii)  Re-order level 

   (1) Minimum consumption 100 units per 
day 

   (2) Maximum consumption 150 units  
per day 

   (3) Normal consumption 120 units per day 

   (4)  Re-order period 10-15 days 

   (5)  Re-order quantity 1500 units 

   (6)  Normal re-order period 12 days 

   Psk¤i 

  (i)  SøÓ¢u \μUS ©mh®  

  (ii)  AvP£m\  \μUS ©mh® 

  (iii)  ©Ö Bøn ©mh® 

   (1) SøÓ¢u£m\ ~PºÄ 100 A»SPÒ |õÒ 

JßÖUS 

   (2) AvP£m\ ~PºÄ 150 A»SPÒ |õÒ 

JßÖUS 

   (3) \μõ\› ~PºÄ 120 A»SPÒ |õÒ JßÖUS 

   (4)  ©Ö Bøn Põ»® 10&15 |õmPÒ 

   (5)  ©Ö Bøn AÍÄ 1500 A»SPÒ 

   (6)  \μõ\› ©Ö BønPõ»® 12 |õmPÒ 
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12.  (a) From the following particulars, ascertain the net 
wages payable to employees in cash. 

 Rs. 
Basic wages 50,400
Dearness Allowance 43,200
Night Shift Allowance 9,600
Overtime Allowance 7,000
Amount paid into P.F. A/c 10,000
ESI Contribution 2,800
Recovery towards House Rent 10,200
Recovery towards supply of provisions 16,800
Amount spent towards amenities to Employees 6,880

  Contribution towards provident fund by the 
employees and the management is equal. 
Contribution towards ESI by the employees and 
management is 5: 7. 

   R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 

FÈ¯ºPÐUS £n©õP öPõkUP ÷Ási¯ {Pμ 

T¼ø¯ PnUQhÄ®. 

 ¹. 
Ai¨£øh T¼ 50,400
APÂø»¨£i 43,200
CμÄ ÷|μ EøÇ¨¦ £i 9,600
TkuÀ ÷|μ® ÷Áø»¨£i 7,000
P.F. PnUQÀ ö\¾zu¨£mh £n® 10,000
£o¯õÍº Aμ_ Põ¨¥mkUS ö\¾zv¯x 2,800
Ãmk ÁõhøP°À v¸®£¨ ö£Ó¨£mhx 10,200
ö£õ¸ÒPÒ Â{÷¯õP® ö\´uvÀ v¸®£ ö£Ó¨£mhx 16,800
öuõÈ»õÍºPÐUS Cuμ Á\vUPõP ö\»Ä ö\´ux 6,880

  ÷\© |» {vUS öuõÈ»õÎ²® •u»õÎ²® \© £[S 

AÎzxÒÍÚº. £o¯õÍº Aμ_ Põ¨¥k vmhzvØS 

•u»õÎ²® öuõÈ»õÎ²® AÎzu ÂQu® 5 : 7. 

Or 
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 (b) A factory has three production departments A, B 
and C and two service departments S1 and S2. The 
overhead costs of each of the departments are as 
under: 

Departments Costs (Rs.)

A 10,000 

B 9,000 

C 12,000 

S1 6,000 

S2 4,000 

  The Costs of the service departments are to be 
apportioned as under: 

Departments A B C S1 S2 

S1 30% 20% 30% - 20%

S2 40% 40% 20% - - 

  Compute the overhead costs of each of the 
production departments. 

   J¸ öuõÈØ\õø»¯õÚx, A, B ©ØÖ® C GÝ® ‰ßÖ 

EØ£zv xøÓPøÍ²® S
1
 ©ØÖ® S

2
 GÝ® Cμsk 

÷\øÁz xøÓPøÍ²® öPõskÒÍx. JÆöÁõ¸ 

xøÓPÐUS® E›¯ ÷©Øö\»ÄPÒ ¤ßÁ¸©õÖ. 

xøÓPÒ ö\»ÂÚ[PÒ 

(¹.) 

A 10,000 

B 9,000 

C 12,000 

S1 6,000 

S2 4,000 
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  ÷\øÁz xøÓ°ß ö\»ÂÚ[PÒ ¤ßÁ¸©õÖ £Qº¢x 

öPõÒÍ£kQÓx. 

xøÓPÒ A B C S1 S2 

S1 30% 20% 30% - 20%

S2 40% 40% 20% - - 

  JÆöÁõ¸ EØ£zv xøÓPÐUPõÚ ÷©Øö\»ÄPøÍ 

PnUQkP. 

13.  (a) Compare job costing with process costing. 

   £oÁÈ AhUP Âø»ø¯ £i•øÓ AhUPÂø»²hß 

J¨¤kP. 

Or 

 (b) Calculate the cost of each process and total cost of 
production from the data given below: 

 Process 
 1(Rs.) 2(Rs.) 3(Rs.)

Materials 2,250 750 300 
Wages 1,200 3,000 900 
Direct Expenses :    
Fuel 300 200 400 
Carriage 200 300 100 
Works overheads 1,890 2,580 1,875

  The indirect expenses Rs. 1,275 should be 
apportioned on the basis of wages. 

   RÌPõq® Â£μ[PÎ¼¸¢x JÆöÁõ¸ £i•øÓ°ß 

AhUPÂø»²® EØ£zv ö£õ¸Îß ö©õzu 

AhUPÂø»²® {ºn¯® ö\´P. 

 £i•øÓ 

 1(¹.) 2(¹.) 3(¹.)

‰»¨ö£õ¸mPÒ 2,250 750 300 

T¼ 1,200 3,000 900 
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 £i•øÓ 

 1(¹.) 2(¹.) 3(¹.)

÷|μia ö\»ÂÚ[PÒ    

G›ö£õ¸Ò 300 200 400 

yUSUT¼ 200 300 100 

Bø» ÷©Øö\»ÄPÒ 1,890 2,580 1,875

  ©øÓ•P ÷©Øö\»ÄPÒ ¹.1,275 T¼°ß 

Ai¨£øh°À £Qº¢uÎUP¨£kQÓx. 

14.  (a) The information given below has been taken from 
the cost records of an engineering works in respect 
of the job No.303. 

  Materials Rs.4010 

  Wages  : Department A – 60 hours @Rs.3 per 
hour  

     Department B – 40 hours @ Rs.2 per 
hour 

     Department C – 20 hours @ Rs.5 per 
hour 

  The overhead expenses are as follows: 

  Variable Expenses: 

     Department A – Rs.5000 for 5000 
hours 

     Department B – Rs.3000 for 1500 
hours 

     Department C – Rs.2000 for 500 
hours 

  Fixed Expenses: Rs.20000 for 10000 working hours. 

  Calculate the cost of the job No.303 and the price for 
the job to give a profit of 25% on the selling price. 
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   ¤ßÁ¸® uPÁÀPÍõÚx £o Gs 303I öPõsh J¸ 

ö£õÔ°¯À £o°ß AhUPÂø» HkPÎ¼¸¢x 

GkUP¨£mhx. 

  ‰»¨ö£õ¸mPÒ :  ¹.4,010 

  T¼    : xøÓ A & 60 ©o ÷|μ®,  
      J¸  ©o ÷|μzvØS ¹.3 Ãu®  
      xøÓ B & 40 ©o ÷|μ®, J¸ ©o 

÷|μzvØS ¹.2 Ãu® 
      xøÓ C & 20 ©o ÷|μ®, J¸ ©o 

÷|μzvØS ¹.5 Ãu® 
  ÷©Øö\»ÄPÒ ¤ßÁ¸©õÖ: 
  ©õÖ® ö\»ÄPÒ: 
     xøÓ A – ¹.5,000 ©oPÐUS  

¹. 5,000.  
     xøÓ B – ¹.1,500 ©oPÐUS  

¹. 3,000. 
     xøÓ C – ¹.500 ©oPÐUS  

¹. 2,000. 
  {ø»¯õÚ ö\»ÂÚ[PÒ  10,000 ÷Áø» ÷|μ[PÐUS 

¹.20,000. 

  £o Gs 303ß AhUPÂø»ø¯ PõsP. Âø»¯õÚx 

ÂØ£øÚ°ß «x 25% C»õ£zvÀ EÒÍx. 

Or 

 (b) From the following information prepare a cost sheet 
when the batch consists of 200 units: 

Cost of Materials 12 paise per unit 

Operator’s wages Rs. 1.44 an hour 

Machine Hour Rate Rs.3 

Setting up time of the machine 4 hours and 40 minutes

Manufacturing time 20 minutes per unit 
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   ¤ßÁ¸® Â£μ[PøÍU öPõsk 200 A»SPøÍ 

öPõsh J¸ öuõSv°ß AhUPÂø» £mi¯ø» 

u¯õ›UP. 

‰»¨ö£õ¸mPÎß AhUPÂø» ¹.12 ø£\õ J¸ A»SUS 

C¯US|º T¼ ¹.1.44J¸ ©o ÷|μzvØS  

C¯¢vμ ©o ÷|μ Ãu® ¹.3 

C¯¢vμzøu Aø©¨£uØPõÚ ÷|μ® 4 ©o ÷|μ® ©ØÖ® 40 {ªh[PÒ

EØ£zv ÷|μ® 20 {ªh[PÒ Kº A»QØS 

15.  (a) ABC Ltd had budgeted the sales for December 2018. 

  Product A: 800 units @Rs.40 per unit 

  Product B: 1000 units@ Rs.60 per unit 

  The actual sales were: 

  Product A: 900 units @ Rs.45 per unit 

  Product B: 1100 units @ Rs.70 per unit 

  The cost per unit of A and B was Rs.35 Rs.50 
respectively. 

  Calculate Sales Variance. 
   ABC {Ö©® i\®£º 2018 AßøÓ¯ vmhªmh 

ÂØ£øÚ ¤ßÁ¸©õÖ. 

  ö£õ¸Ò A: 800 A»SPÒ & A»S JßÖ ¹.40 Ãu® 
  ö£õ¸Ò B: 1000 A»SPÒ Ãu® A»S JßÖ ¹.60 

Ãu® 
  Esø©¯õÚ ÂØ£øÚ ¤ßÁ¸©õÖ: 
  ö£õ¸Ò A: 900 A»SPÒ A»S JßÖ ¹.45 Ãu® 
  ö£õ¸Ò B: 1100 A»SPÒ A»S JßÖ ¹.70 Ãu® 
  Kº A»QØPõÚ A ©ØÖ® B ö£õ¸Îß AhUPÂø» 

¹.35 ©ØÖ® ¹.50 BS®. 

  ÂØ£øÚ ©õÖ£õmøh PõsP. 

Or 
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 (b) State the reasons for differences in profits revealed 
by cost and financial accounts. 

   AhUPÂø» PnUQ¯À ©ØÖ® {v{ø»U PnUQ¯À 

öÁÎ¨£kzuUTi¯ C»õ£ ÷ÁÖ£õmiØPõÚ 

Põμn[PøÍ TÖP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Sindya Company has purchased and issued materials as 

under: 

 June 

 1 Stock of materials 200 units at Rs. 2.50 per unit 

 3 purchased 300 units at Rs. 3.00 per unit 

 7 purchased 500 units at Rs. 4.00 per unit 

 10 Issued 600 units 

 12 Purchased 400 units at Rs. 4.00 per unit 

 13 Issued 500 units 

 24 Purchased 400 units at Rs. 5.00 per unit 

 28 Issued 200 units 

 Ascertain the value of costing stock under:  

 (a)  FIFO  

 (b)  LIFO method of issue 
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 ]¢v¯õ {Ö©® ‰»¨ö£õ¸mPÒ Áõ[Q¯x ©ØÖ® ÁÇ[Q¯x 

Â£μ® ¤ßÁ¸©õÖ: 

áüß 

 1 ‰»¨ö£õ¸mPÒ C¸¨¦ 200 A»SPÒ A»S JßÖUS 

¹.2.50 Ãu® 

 3 A»S JßÖUS ¹.3.00 Ãu® 300 A»SPÒ 

Áõ[P¨£mhx. 

 7 A»S JßÖUS ¹.4.00 Ãu® 500 A»SPÒ 

Áõ[P¨£mhx. 

10 600 A»SPÒ ÁÇ[Q¯x 

 12 A»S JßÖUS ¹.4.00 Ãu® 400 A»SPÒ 

Áõ[P¨£mhx 

 13 500 A»SPÒ ÁÇ[Q¯x 

 24 A»S JßÖUS ¹.5.00 Ãu® 400 A»SPÒ 

Áõ[P¨£mhx 

 28 200 A»SPÒ ÁÇ[Q¯x 

 (A)  •.Á.•.öÁ  

 (B)  C.Á.•.öÁ •øÓPÎß £i CÖva \μUQß ©v¨ø£U 

PõsP. 

17. In a factory, there are two service departments X and Y 
and three production department A, B, C. In April 2002, 
the departmental expenses were: 

Departments A B C X Y 
Rs. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

 The expenses of the service departments are allocated on 
a percentage basis as follows: 

 A B C I II 
I 30 40 15 - 15
II 40 30 35 5 - 

 Prepare a statement showing the distribution of the 
expenses of the two service departments to the 
production departments on the basis of repeated 
distribution method.  
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 J¸ öuõÈØ\õø» X, Y GßÓ Cμsk ÷\øÁz xøÓ²®  
A, B, C GßÓ ‰ßÖ EØ£zv xøÓPÐ® EÒÍÚ. H¨μÀ 2002 

AßÖ xøÓPÐUPõÚ ö\»ÂÚ[PÒ. 

xøÓPÒ A B C X Y 

¹. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

 ÷\øÁzxøÓ°ß ö\»ÂÚ[PÒ RÌUPsh \uÂQu 

Ai¨£øh°À £Qº¢uÎUP¨£kQßÓÚ. 

 A B C I II 

I 30 40 15 - 15

II 40 30 35 5 - 

 ÷\øÁzxøÓ°ß ö\»ÂÚ[PøÍz v¸®£¨ £Q¢uÎ¨¦ 

(Repeated Distribution) •øÓ°À  EØ£zv xøÓPÐUS¨ 

£[Qk® ÁøP°À AmhÁøn u¯õº ö\´P. 

18. Product A is obtained after passing through three distinct 
processes. Prepare process accounts from the following 
information 

 Process 

 I II III 

Materials 5,200 3,960 5,924

Direct wages 4,000 6,000 8,000

Production overheads Rs. 18,000.    

 In process 1, 1,000 units were introduced for Rs. 6,000, 
production overhead to be distributed at 100% on wages. 

Process Actual output unit Normal Loss Scrap value per unit

I 950 5% 4 

II 840 10% 8 

III 750 15% 10 
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 £shP® A ‰ßÖ uÛzuÛ £i•øÓPøÍU Ph¢u ¤ß 

ö£Ó¨£kQÓx. RÌUPsh uPÁÀPÎ¼¸¢x £i•øÓU 

PnUSPøÍz u¯õ›UPÄ®. 

 £i•øÓ 

 I II III 

ö£õ¸mPÒ 5,200 3,960 5,924

÷|μiUT¼ 4,000 6,000 8,000

EØ£zv ö\»ÄPÒ  ¹.18,000   

 £i•øÓ I–À 1,000 A»SPÒ ¹.6,000 US 

~øÇUP¨£kQßÓÚ. EØ£zv ö\»ÄPÒ ÷|μiU T¼°À 100% 

£Qº¢x öPõÒP. 

£i•øÓ Esø©¯õÚ EØ£zv 

A»SPÒ 

\õuõμn 

|mh® 

A»S JßÖUS ªg]¯ 

ö£õ¸Îß ©v¨¦ 

I 950 5% 4 

II 840 10% 8 

III 750 15% 10 

19. Given below are the particulars regarding the 
construction of a building. From this, prepare the 
contract accounts and ascertain the profit to be 
transferred to profit and loss account and the amount to 
be transferred to reserve: 

 Rs. 

Total contract price 2,50,000

Material sent to site 85,000

Labour engaged at site 74,000

Plant installed at site 15,000

Direct expenses 3,160

Establishment charges 4,120

Material returned to stores 550



D–1666 
  14

 Rs. 

Value of work certified 1,95,000

Value of work not certified 4,500

Stock of materials (December 31) 1,880

Wages accrued and due (finally) 2,400

Direct expenses accrued (finally) 240

Value of plant (December 31) 11,000

Cash receive from contractee 1,80,000

 R÷Ç öPõkUP¨£mkÒÍøÁ. J¸ PmihU Pmk©õÚzvØPõÚ 

J¨£¢u® £ØÔ¯ Â£μ[PÒ Cv¼¸¢x, J¨£¢uU PnUøPz 

u¯õ›zx, C»õ£ |mhU  PnUQØS ©õØÓ ÷Ási¯ 

öuõøPø¯²®, Põ¨¤ØS ©õØÓ ÷Ási¯ öuõøPø¯²® 

PnUQkP. 

 ¹. 

ö©õzu J¨£¢u ©v¨¦ 2,50,000

÷Áø»°hzvØS AÝ¨£¨£mh 

‰»¨ö£õ¸mPÒ 

85,000

÷Áø»°hzvÀ T¼ 74,000

÷Áø»°hzvÀ ö£õ¸zu¨£mh C¯¢vμ® 15,000

÷|μia ö\»ÄPÒ 3,160

{ÖÁÚa ö\»ÄPÒ 4,120

‰»¨ö£õ¸Ò v¸¨¤ GkzxU 

öPõÒÍ¨£mhx 

550

\õßÔuÌ ÁÇ[P¨£h ÷Áø»°ß ©v¨¦ 1,95,000

\õßÔuÌ ÁÇ[P¨£hõu ÷Áø»°ß ©v¨¦ 4,500

‰»¨ö£õ¸Ò CÇ¨¦ (i\®£º 31) 1,880

öPõk¨£h ÷Ási¯ C¸¨¦ (CÖv°À) 2,400
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 ¹. 

öPõk¨£h ÷Ási¯ ÷|μia ö\»Ä 

(CÖv°À) 

240

C¯¢vμzvß ©v¨¦ (i\®£º 31) 11,000

J¨£¢u¨£mhÁ›ß C¸¢x ö£ØÖU 

öPõÒÍ¨£mh öuõøP 

1,80,000

20. From the following particulars prepare  

 (a)  a statement of cost of manufacture  

 (b)  a statement of profit as per cost accounts  

 (c)  Profit and loss account in the financial books and  

 (d)  Reconciliation statement reconciling profit as per 
cost and financial books. 

Particulars Rs. 

Opening stock of raw materials 60,000

Opening stock of finished goods 1,20,000

Purchases of raw materials 3,60,000

Stock of raw materials at the end 90,000

Stock of finished goods at the end 30,000

Wages 1,50,000

 Calculate factory overhead at 25% on prime cost and 
office overhead at 75% on factory overhead. Actual works 
expenses amounted to Rs. 1,16,250 and actual office 
expenses amounted to Rs.91,500. The selling price was 
fixed at a profit of 20% of the selling price. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x  

 (A)  EØ£zv AhUPÂø» £mi¯À  

 (B)  AhUP PnUQ¯¼ß£i C»õ£  AÔUøP 

 (C) {v{ø» Hmiß £i C»õ£|mh PnUS ©ØÖ®  

 (D) AhUPÂø» ©ØÖ® {v{ø» Hmiß £i C»õ£zøu 

\›ö\´²® \›Pmk® £mi¯ø»²® u¯õ›UP. 
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ÂÁμ[PÒ ¹. 

Pa\õö£õ¸ÒPÎß öuõhUP \μUQ¸¨¦ 60,000

CÖv¨ö£õ¸Îß öuõhUP \μUQ¸¨¦ 1,20,000

Pa\õö£õ¸ÒPÒ Áõ[Q¯x 3,60,000

CÖv°¾ÒÍ Pa\õ ö£õ¸ÒPÎß ©v¨¦ 90,000

CÖv°¾ÒÍ CÖv¨ö£õ¸ÒPÎß ©v¨¦ 30,000

T¼ 1,50,000

 öuõÈØ\õø» ÷©Øö\»ÂØPõP •ußø© AhUPÂø»°ß 

«x 25%•® ©ØÖ® A¾Á»P ÷©Øö\»ÂØS öuõÈØ\õø» 

÷©Øö\»Âß «x 75% •®  PnUQkP. Esø©¯õÚ £o 

ö\»ÄPÒ ¹.1,16,250 ©ØÖ® Esø©¯õÚ A¾Á»P 

ö\»ÂÚ[PÒ ¹.91,500 BS®. C»õ£©õÚx ÂØ£øÚ 

Âø»°ß «x 20% PnUQh¨£mk ÂØ£øÚ Âø» 

{ºn°UP¨£kQÓx. 

 

———————— 
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Common for M.Com./M.Com. (F and C) DEGREE 
EXAMINATION, DECEMBER 2021. 
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Commerce 

FINANCIAL SERVICES 

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. List out the various financial services. 

 £À÷ÁÖ {v°¯À ÷\øÁPøÍ £mi¯¼kP. 

2. What is Money Market? 

 £n \¢øu GßÓõÀ GßÚ? 

3. Define Financial Intermediation. 

 {v°¯À |kÁº Áøμ¯ÖUP. 

4. What is Underwriting? 

 J¨¦Öv GßÓõÀ GßÚ? 

5. What is meant by Hire Purchase? 

 ÁõhøP öPõÒ•uÀ £ØÔ  AÔÁx  GßÚ? 

Sub. Code 
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6. What is Mutual Fund? 

 £μì£μ {v GßÓõÀ GßÚ? 

7. What is meant by Venture Capital? 

 xoPμ •u½k £ØÔ }Âº AÔÁx ¯õx? 

8. Define Merchant Banking. 

 ÁoP Á[Qø¯ Áøμ¯ÖUP. 

9. What is Credit Rating? 

 Phß uμ©v¨¤hÀ GßÓõÀ GßÚ? 

10. Define Export Finance. 

 HØÖ©v {vø¯ Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the challenges faced by financial services 
sector in India? 

  C¢v¯õÂ¾ÒÍ {v°¯À ÷\øÁ xøÓPÒ 

GvºöPõÒÐ® \ÁõÀPÒ ¯õøÁ? 

Or 

 (b) What is capital market? Explain its types. 

  ‰»uÚa \¢øu GßÓõÀ GßÚ? AuÝøh¯ ÁøPPøÍ 

ÂÍUSP. 

12. (a) What are the objectives of merchant banking? 

  ÁoP Á[Q°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the advantages of leasing? 

  SzuøP°ß |ßø©PÒ ¯õøÁ? 
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13. (a) Bring out the various benefits of Securitization. 

  ¤øn¯¨£kzxu¼ß £À÷ÁÖ |ßø©PøÍ u¸P. 

Or 

 (b) What are the advantages of factoring for a client? 

  £¯Úº HmkUPhß uμQß |ßø©PÒ ¯õøÁ? 

14. (a) List out the different categories of merchant 
bankers. 

  ÁoP Á[Q¯›ß £À÷ÁÖ ÁøPPøÍ £mi¯¼kP. 

Or 

 (b) Write down the credit rating symbols for short term 
instrument. 

  SÖQ¯ Põ» P¸ÂPÒ «uõÚ Phß SÔ±mk 

ÂÀø»PøÍ GÊxP. 

15. (a) What are the advantages of housing finance? 

  Ãmk {v°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the role of NBFCs. 

  NBFCß £[QøÚ ÂÍUSP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between money market and capital market. 

 £na\¢øu ©ØÖ® ‰»uÚa \¢øuø¯ ÷ÁÖ£kzxP. 

17. Explain the role of commercial banks in financing. 

 {v°¯¼À ÁoP Á[Q°ß £[QøÚ ÂÍUSP. 
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18. Explain the different types of mutual fund schemes in 
India. 

 C¢v¯õÂ¾ÒÍ £μì£μ {v vmh[PÎß £À÷ÁÖ ÁøPPøÍ 

ÂÍUSP. 

19. Discuss the various functions of merchant banking. 

 ÁoP Á[Q°ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

20. Briefly explain the various methods of housing finance. 

 Ãmk {v°ß £À÷ÁÖ •øÓPøÍ _¸UP©õP ÂÍUSP. 

—————— 
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SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. Define Portfolio Management. 

 xøÓ ÷©»õsø© Áøμ¯Ö. 

2. What is Hedging? 

 öímâ[ GßÓõÀ GßÚ? 

3. Define IPO.  

 IPO Áøμ¯Ö. 

4. What do you mean by Technical Analysis? 

 öuõÈÀ~m£ B´Ä £ØÔ }Âº AÔÁx ¯õx? 

5. What is Bonds? 

 £zvμ[PÒ GßÓõÀ GßÚ? 

Sub. Code 
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6. What is your opinion about Futures? 

 GvºPõ» J¨£¢u® £ØÔ }Âº AÔÁx ¯õx? 

7. Define Mutual funds. 

 £μì£μ {v Áøμ¯Ö. 

8. What factors necessitate portfolio revision? 

 xøÓ £›^»øÚ°ß ÷uøÁUPõÚ PõμoPÒ ¯õøÁ? 

9. What is OTCEI? 

 OTCEI GßÓõÀ GßÚ? 

10. State the meaning of NSE. 

 NSE ß ÂÍUPzøuU TÖP. 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the types of Speculators? 

  ³P ÁõoP›ß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Mention the concepts of investment in real assets. 

  ö©´¯õÚ ö\õzxUPÎÀ ö\´²® •u½kPÒ £ØÔ 

P¸zvøÚU TÖP. 

12. (a) What are the features of investment programme? 

  •u½mk {PÌa]PÎß C¯À¦PøÍU TÖP. 

Or 

 (b) Mention the kinds of trading activity. 

  ÁoP |hÁiUøPPÎß ÁøPPøÍU TÖP. 



D–1668 
  3

13. (a) Briefly explain the Share valuation. 

  £[S ©v¨¤kuÀ £ØÔ _¸UP©õP ÂÁ›. 

Or 

 (b) Enumerate the economic fundamental analysis. 

  ö£õ¸Íõuõμ Ai¨£øh B´ÂøÚ ÂÁ›. 

14. (a) What are the various kinds of Options? 

  Áõ´¨¦PÎß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Describe the Markowtz diversification. 

  ©õºU÷PõÂmì £ÀÁøP¨£kzuø» ÂÁ›. 

15. (a) Explain Treynor model 

  iöμ´Úº ©õv›ø¯ ÂÁ›. 

Or 

 (b) Enumerate formula plans. 

  `m\© vmh[PøÍ ÂÁ›. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different avenues of Investment. 

 •u½miØPõÚ £À÷ÁÖ Áõ´¨¦PøÍ ÂÁ›. 

17. Examine DOW theory in detail. 

 öhÍ ÷Põm£õmøh ÂÍUP©õP ÂÁ›. 
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18. Describe the efficient market theory. 

 vÓø© \¢øu ÷Põm£õmøh ÂÍUSP. 

19. Explain the factors contributing to Portfolio 
Management. 

 £mi¯À ÷©»õsø©US Âzvk® PõμoPøÍ ÂÍUSP. 

20. Discuss the Lagrangian Multiplier method of identifying 
the efficient portfolio. 

 ]Ó¢u £mi¯ø» PshÔ¯ EuÄ® ö»Uμõg]°ß £Àö£¸US 

•øÓ°øÚ ÂÍUSP. 

—————— 
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SECTION A — (10  2 = 20 marks) 

Answer ALL the questions. 

1. What is meant by Financial Management? 

 {v ÷©»õsø© £ØÔ AÔÁx GßÚ? 

2. What is finance function? 

 {v \õº¦ GßÓõÀ GßÚ? 

3. What is meant by Risk? 

 Chº £ØÔ AÔÁx GßÚ? 

4. What is Capital Market? 

 ‰»uÚa\¢øu GßÓõÀ GßÚ? 

5. What do you mean by right issue? 

 E›ø© öÁÎ±k £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
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6. Define the term Working Capital Management. 

 |øh•øÓ ‰»uÚ ÷©»õsø© GÝ® £uzøu Áøμ¯ÖUP. 

7. What is meant by Optimal Capital Structure? 

 Ezu© ‰»uÚ ÁiÁø©¨¦ £ØÔ AÔÁx GßÚ? 

8. What do mean by Cost of Debt? 

 Phß \õº¢u AhUPÂø» £ØÔ }Âº AÔÁx GßÚ? 

9. What is Composite Leverage? 

 J¸[Qøn¢u ö|®¦÷PõÀ GßÓõÀ GßÚ? 

10. What is dividend policy? 

 £[Põu¯ öPõÒøP GßÓõÀ GßÚ? 

SECTION B — (5  5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11.  (a) What are the importance of financial management? 

   {v ÷©»õsø©°ß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between profit maximization and 
wealth maximization. 

   C»õ£ AvP›¨¦ ©ØÖ® ÁÍ AvP›¨ø£ ÷ÁÖ£kzxP. 

12.  (a) What are the merits and demerits of debentures? 

   PhÜmk¨ £zvμ[PÎß |ßø©PÒ ©ØÖ® wø©PÒ 

¯õøÁ? 

Or 

 (b) Bring out the disadvantages of over capitalization. 

   ªøP ‰»uÚzvß SøÓ£õkPøÍz u¸P. 
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13.  (a) What are the main sources of working capital? 

   |øh•øÓ ‰»uÚzvß •UQ¯©õÚ ÁÍ[PÒ ¯õøÁ?  

Or 

 (b) What are the characteristics of balanced capital 
structure? 

   \©{ø»°»õÚ ‰»uÚ ÁiÁø©¨¤ß Snõv]¯[PÒ 

¯õøÁ? 

14.  (a) What are the merits of weighted average cost of 
capital? 

   Gøh°mh \μõ\› ‰»uÚ AhUPÂø»°ß |ßø©PÒ 

¯õøÁ? 

Or 

 (b) Distinguish between operating and financial 
leverage. 

   ö\¯À£õmk ©ØÖ® {v ö|®¦÷PõÀPøÍ ÷ÁÖ£kzxP. 

15.  (a) What are the assumptions of M.M theory? 

   MM ÷Põm£õmiß Gk÷PõÒPÒ ¯õøÁ? 

Or 

 (b) Briefly explain the various factors determining the 
dividend decision. 

   £[Põu¯ •iÂøÚ wº©õÛUPU Ti¯ £À÷ÁÖ 

PõμoPøÍ _¸UP©õP ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the main functions of financial management. 

 {v ÷©»õsø©°ß •UQ¯©õÚ £oPøÍ ÂÍUSP. 

17. Explain the types of working capital in detail. 

 |øh•øÓ ‰»uÚzvß ÁøPPøÍ Â›ÁõP ÂÍUSP. 
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18. Enumerate various theories of capital structure. 

 ‰»uÚ ÁiÁø©¨¤ß £À÷ÁÖ ÷uØÓ[PøÍ GkzxøμUP. 

19. What is cost of debt? Explain the various methods of 
computing cost of debt capital. 

 Phß AhUPÂø» GßÓõÀ GßÚ? Phß ‰»uÚ 

AhUPÂø»ø¯ PnUQk® £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

20. Describe the various methods of international payments. 

 £ßÚõmk ö\¾zxu¼ß £À÷ÁÖ •øÓPøÍ ÂÁõvUP. 

———————— 
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SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What is Job evaluation? 

 £o ©v¨¥k GßÓõÀ GßÚ? 

2. What is Selection? 

 ÷uº¢öukzuÀ GßÓõÀ GßÚ? 

3. State the limitations of human resource planning. 

 ©Ûu ÁÍ vmhªh¼ß SøÓPøÍ TÖP. 

4. What is Placement? 

 £o¯©ºzuÀ GßÓõÀ GßÚ? 

5. State the features of performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miÝøh¯ A®\[PøÍU TÖP. 

Sub. Code 
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6. What is Wage payment? 

 T¼ ÁÇ[S® •øÓ GßÓõÀ GßÚ? 

7. What is Promotion? 

 £uÂ E¯ºÄ GßÓõÀ GßÚ? 

8. State the reasons for indiscipline. 

 JÊ[RÚzvØPõÚ Põμn[PøÍU TÖP. 

9. What is Job satisfaction? 

 £o ©Ú{øÓÄ GßÓõÀ GßÚ? 

10. List out the components of industrial relations. 

 öuõÈÀ EÓÄPÎß TÖPøÍ £mi¯¼kP. 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the objectives of Personnel Management? 

  £o¯õÍº ÷©»õsø©°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Indicate the characteristics of Human Resource 
Planning. 

  ©ÛuÁÍ vmhªku¼ß Snõv\¯[PøÍU SÔ¨¤kP. 

12. (a) State and explain the principles of organization. 

  Aø©¨¤ß öPõÒøPPøÍU TÔ ÂÍUSP. 

Or 

 (b) What are the types of transfer? Explain. 

  Ch©õØÓzvß ÁøPPÒ ¯õøÁ? ÂÍUSP. 
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13. (a) List out the limitations of performance appraisal. 

  ö\¯ÀvÓß ©v¨¥miÝøh¯ SøÓ£õkPøÍ 

£mi¯¼kP. 

Or 

 (b) State the importance of motivation. 

  ö\¯¿UP©Îzu¼ß •UQ¯zxÁ® ¯õx? 

14. (a) What are the characteristics of Collective 
bargaining? 

  Tmk¨÷£μzvß C¯À¦PÒ ¯õøÁ? 

Or 

 (b) State the demerits of ranking method. 

  uμÁ›ø\ •øÓ°ß wø©PøÍU TÖP. 

15. (a) How are industrial relations promoted? 

  öuõÈÀ EÓÄPÒ GÆÁõÖ ÷©®£kzu¨£kQÓx? 

Or 

 (b) State the concept of Industrial discipline system. 

  öuõÈÀ JÊ[S•øÓ £ØÔ¯ P¸zvøÚU TÖP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Describe the managerial and operative functions of 
Personnel Management. 

 £o¯õÍº ÷©»õsø©°ß ÷©»õsø© ©ØÖ® ö\¯À£õmk 

£oPøÍ ÂÁ›UP. 

17. Critically examine the methods of Job evaluation. 

 £o ©v¨¥miß •øÓPøÍ vÓÚõ´Ä ö\´P. 
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18. Enumerate various stages involved in selection process. 

 £o¯õÍº ÷uº¢öukzu¼À EÒÍ £À÷ÁÖ £i{ø»PøÍ 

GkzxøμUP. 

19. Explain the procedure for handling grievances of 
employees. 

 öuõÈ»õÍºPÎß ¤μa]øÚPøÍ øP¯õÐ® ö\¯À•øÓ¨ 

£ØÔ ÂÍUSP. 

20. Narrate the forms of worker’s participation in 
Management. 

 ÷©»õsø©°À öuõÈ»õÍº £[÷PØ¤ß ÁiÁ[PøÍ 

GkzxøμUP. 

———————— 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by Under Subscription? 

 SøÓ J¨£® £ØÔ AÔÁx GßÚ? 

2. What is Capital Redemption Reserve? 

 •u¼Ú «m¦U Põ¨¦ GßÓõÀ GßÚ? 

3. What are divisible profits? 

 £Qº¢uÎUPTi¯ C»õ£[PÒ ¯õøÁ? 

4. Define Goodwill. 

 |Øö£¯øμ Áøμ¯ÖUP.  

5. What is Absorption? 

 Dº¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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6. What do you mean by Internal Reconstruction?  

 EÒ©Ö Aø©¨¦ £ØÔ }Âº AÔÁx GßÚ? 

7. Who are preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõºPÒ Gß£Áº ¯õº? 

8. What is Holding company? 

 ¤i¨¦ {Ö©® GßÓõÀ GßÚ? 

9. What is Non-Performing Assets? 

 ö\¯À£õhØÓ ö\õzxUPÒ GßÓõÀ GßÚ? 

10. What is Human Resource Accounting? 

 ©Ûu ÁÍ PnUQ¯À GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b).  

11. (a) A shareholder holding 500 equity shares of Rs. 10 
each of a company issued at 10% discount. He paid 
Rs. 2 on application, Rs. 3 on allotment but could 
not pay first call of Rs. 3 per share and these shares 
were forfeited for non-payment and subsequently 
re- issued for Rs. 7 per share. Give necessary 
Journal entries. 

  J¸ £[Suõμº 10% uÒÐ£i°À öÁÎ°mh J¸ 

{Ö©zvß 500 ö£õx{ø» £[SPÒ JßÖ ¹. 10 Ãu® 

öPõsh £[SPøÍ øÁzv¸¢uõº. AÁº 

Âsn¨£zvß ÷£õx ¹. 2&® JxURmiß ÷£õx  

¹. 3&® ö\¾zv°¸¢uõº. BÚõÀ •uÀ AøÇ¨£õÚ  

¹. 3&I AÁº ö\¾zuÂÀø». GÚ÷Á A¨£[SPÍõÚx 

JÖ¨¤øÇ¨¦ ö\´¯¨£mk öuõhºa]¯õP £[S 

JßÖUS ¹. 7 Ãu® ©Ö öÁÎ±k ö\´¯¨£mhx. 

÷uøÁ¯õÚ SÔ¨÷£mk¨ £vøÁz u¸P.  

Or 
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 (b) The following are the details taken from the records 
of B Ltd on June 30, 2017. 

Particulars Rs. 

Share capital : 

Equity Share Capital (Fully Paid up) 6,00,000

Preference Shares (Fully Paid up) 3,00,000

General Reserve 2,00,000

Profit and Loss Account (Cr) 1,25,000

Share Premium Account 50,000

 The company decided to redeem the preference shares at 
a premium of 10% out of its general reserve and profit 
and loss account. Give journal entries relating to 
redemption of preference shares. 

  ¤ßÁ¸® uPÁÀPÒ B {Ö©zvß 30.6.2017® 

|õÐUS›¯x.  

ÂÁμ[PÒ ¹. 

£[S •uÀ: 

ö£õx{ø» £[SPÒ (•ÊÁx® 

ö\¾zu¨£mhøÁ) 

6,00,000

•ßÝ›ø©¨ £[SPÒ (•ÊÁx® 

ö\¾zu¨£mhøÁ) 

3,00,000

ö£õx Põ¨¦ 2,00,000

C»õ£|mhU PnUS (Á) 1,25,000

£[S •øÚ© PnUS  50,000

  AUP®ö£Û¯õÚx •ßÝ›ø© £[SPøÍ ö£õxPõ¨¦ 

©ØÖ® C»õ£ |mhU PnUQß C¸¨¤À 10% 

•øÚ©zvÀ «mP •iÄ ö\´ux. •ßÝ›ø© 

£[SPøÍ «m£x öuõhº£õÚ SÔ¨÷£mk £vÄPøÍz 

u¸P.  
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12. (a) Explain the various methods of valuation of shares. 

  £[SPøÍ ©v¨¤kÁvß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

Or 

 (b) The following particulars relate to a Ltd. Company 
which has gone into voluntary liquidation. The 
liquidator is entitled to get 2% on the amount 
distributed to unsecured creditors other than 
preferential. You are required to prepare the 
liquidators final accounts.  

Particulars Rs. 

Preferential Creditors 10,000

Unsecured Creditors 32,000

Debentures   10,000

The Assets realized are:

Land and Buildings 20,000

Plant and Machinery 18,650

Furniture and Fittings 1,000

Liquidation Expenses 1,000

  ¤ßÁ¸® uPÁÀPÍõÚx uõÚõP Pø»UP¨£mh J¸ 

{Ö©zvØS›¯x. •ßÝ›ø© PhÜ¢÷uõ¸US 

AÎUP¨£mh öuõøPø¯ uÂμ ¤øn¯ªÀ»õ 

PhÜ¢÷uõ¸US ÁÇ[P¨£mh öuõøP°ß 2% Fv¯® 

ö£Ó Pø»¨£õÍ¸US E›ø© Esk. Cv¼¸¢x 

Pø»¨£õÍ›ß CÖv PnUøP u¯õº ö\´P.  

ÂÁμ[PÒ ¹. 

•ßÝ›ø© PhÜ¢÷uõº 10,000

¤øn¯ªÀ»õ PhÜ¢÷uõº 32,000

PhÜmk £zvμ® 10,000
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ÂÁμ[PÒ ¹. 

ÂØP¨£mh ö\õzxUPÒ ¤ßÁ¸©õÖ :

{»® ©ØÖ® Pmih® 20,000

ö£õÔ ©ØÖ® C¯¢vμ® 18,650

AøÓP»ß ©ØÖ® ö£õ¸zxUPÒ 1,000

Pø»¨¦a ö\»ÄPÒ 1,000

13. (a) Distinguish between Absorption and External 
Reconstruction. 

  Dº¨¦ ©ØÖ® ¦Ó ©Ö Aø©¨ø£ J¨¤kP. 

Or 

 (b) From the following balance sheets of holding 
company and subsidiary company, prepare a 
consolidated Balance sheet of Holding company and 
its Subsidiary company.  

Liabilities H  
Rs. 

 S  
Rs. 

Assets H  
Rs. 

S  
Rs. 

Share capital 20,00,000  10,00,000 Investments of  

(Rs. (10 each)      Rs. 10 each in 

Liabilities 15,00,000  2,00,000   subsidiary company 10,00,000 –

    Sundry assets 25,00,000 12,00,000

 35,00,000  12,00,000 35,00,000 12,00,000

  R÷Ç öPõkUP¨£mkÒÍ ¤i¨¦ ©ØÖ® Auß xøn 

{Ö©zvß C¸¨¦{ø»U SÔ¨¤¼¸¢x ¤i¨¦ ©ØÖ® 

Auß xøn {Ö©zvß J¸[QønUP¨£mh 

C¸¨¦{ø»U SÔ¨¤øÚz u¯õ›UPÄ®.  

ö£õÖ¨¦PÒ H 
¹. 

 S  
¹. 

ö\õzxUPÒ H 
¹. 

S  
¹. 

£[S •uÀ 20,00,000  10,00,000 xøn {Ö©zvÀ 

 (¹. 10 Ãu®)     •u½kPÒ ¹. 10 Ãu® 10,00,000 –

ö£õÖ¨¦PÒ 15,00,000  2,00,000 £Ø£» ö\õzxUPÒ 25,00,000 12,00,000

 35,00,000  12,00,000 35,00,000 12,00,000
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14. (a) From the following details relating to Banking 
company, find out the profit balance carried over to 
the balance sheet. 

  Interest earned  5,25,000 

  Other incomes  2,20,440 

  Interest expended  1,25,000 

  Operating expenses 1,83,686 

  Profit brought forward  

  from the previous year 1,00,640  

  Transfer to the statutory reserve at 25%. 

  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÒ Á[Q 

{ÖÁÚzvØS›¯x. C»õ£zøu Psk¤izu C¸¨¦ 

{ø»U SÔ¨÷£miÀ PõmhÄ®.  

  ö£Ó¨£mh Ámi   5,25,000 

  Cuμ Á¸©õÚ®   2,20,440 

  Ámi ö\»ÁÈzux    1,25,000 

  ö\¯À£õmka ö\»ÂÚ[PÒ 1,83,686 

  Ph¢u Bsk C»õ£zøu  

  R÷Ç  CÓUP¨£mhx   1,00,640  

  Pmhõ¯U Põ¨¤ØS ©õØÓ¨£mhx  25%. 

Or 

 (b) From the following prepare the Fire revenue 
account for 2015-2016. 

 Rs. 

Claims paid 35,650

Premium received 80,000

Reinsurance premiums 8,000

Commission 12,000
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 Rs. 

Expenses of Management 18,000

Provision against unexpired risk (01.04.2015) 32,000

Claims unpaid on 01.04.2015 2,600

Claims unpaid on 31.03 2016 3,200

  RÌUPshÁØÔ¼¸¢x w Á¸Áõ´U PnUøP 

2015&2016US u¯õ›UPÄ®.  

 ¹. 

ö\¾zv¯ ÷Põ›UøPPÒ  35,650

ö£ØÓ •øÚ©® 80,000

©ÖPõ¨¥mk •øÚ©® 8,000

PÈÄ 12,000

÷©»õsø©a ö\»ÄPÒ 18,000

öPk•i¯õu ChºPõÚ JxUS (01.04.2015) 32,000

01.04.2015 AßÖ ö\¾zu¨£hõ ÷Põ›UøPPÒ 2,600

31.03 2016 AßÖ ö\¾zu¨£hõ ÷Põ›UøPPÒ 3,200

15. (a) What is IFRS? State its advantages. 

  IFRS GßÓõÀ GßÚ? AuÝøh¯ |ßø©PøÍ TÖP.  

Or 

 (b) What are the principles of responsibility 
accounting? 

  ö£õÖ¨¦ PnUQ¯¼ß ÷Põm£õkPÒ ¯õøÁ? 



D–1671 
    8

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The following is the Trail Balance of Adharash & Co., Ltd 
as on 31.03.2018 with the authorised capital of 72,000 
shares @ Rs. 10 each. 

Particulars Debit  
(Rs.) 

Credit  
(Rs.) 

Cash in Hand 900

Cash at Bank 3,55,980

Profit & Loss a/c 17,400

Creditors 60,000

Debentures 3,60,000

Share Capital (Called up) 5,52,000

Bills Payable 45,600

Sales 4,98,000

Reserve for Bad Debts 4,200

General Reserve 30,000

Calls in arrears 9,000

Wages 92,760

Land and Buildings 3,60,000

Plant and Machinery 4,32,000

General Expenses 20,280

Salaries 17,400

Interim dividend paid 9,000

Furniture 40,000

Purchases 2,29,880

 15,67,200 15,67,200
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 Adjustments : 

 (a) Outstanding Wages Rs. 6,000; Salaries Rs. 3,000. 

 (b) General expenses include prepaid insurance  
@ Rs. 300. 

 (c) Provide depreciation on Land and Buildings, Plant 
and Machinery and Furniture 5%, 10% and 20% 
respectively. 

 (d)  Stock on 31.03.2018 amounted to Rs. 1,40,000. 

 (e) Outstanding interest on debenture Rs. 18,000 

 (f)  Final dividend paid Rs. 21,000.  

  Prepare Final Accounts. 

 ¤ßÁ¸® C¸¨£õ´ÁõÚx 31.3.2018 AßøÓ¯ Amμõì 

{Ö©zvØS›¯x. AuÝøh¯ A[RP›UP¨£mh •uÀ 72,000 

£[SPÒ JßÖ ¹. 10 Ãu® BS®.  

Â£μ[PÒ £ØÖ  

(¹.) 

ÁμÄ  

(¹.) 

øP°¸¨¦ öμõUP® 900

Á[Q°¸¨¦ öμõUP® 3,55,980

C»õ£ |mh P/S 17,400

PhÜ¢÷uõºPÒ 60,000

PhÜmk £zvμ[PÒ 3,60,000

£[S •uÀ (AøÇUP¨£mhøÁ) 5,52,000

ö\¾zuØS›¯ ©õØÖa^mk 45,600

ÂØ£øÚ 4,98,000

ÁõμõUPhß Põ¨¦ 4,200

ö£õxUPõ¨¦ 30,000

AøÇ¨¦ {¾øÁ 9,000

T¼ 92,760
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{»® ©ØÖ® Pmih[PÒ 3,60,000

ö£õÔ ©ØÖ® C¯¢vμ® 4,32,000

ö£õx ö\»ÂÚ[PÒ 20,280

\®£Í[PÒ 17,400

CøhUPõ» £[Põuõ¯® ö\¾zv¯x 9,000

AøÓP»ß 40,000

öPõÒ•uÀ 2,29,880

 15,67,200 15,67,200

 \›UPmkuÀPÒ : 

 (A) öPõk£h ÷Ási¯ T¼ ¹. 6,000, \®£Í[PÒ ¹. 3,000 

 (B) ö£õx ö\»ÂÚzvÀ ¹. 300 ö£Ö©õÚ öuõøP 

Põ¨¥miØPõP •ßTmi ö\¾zu¨£mhøÁ 

÷\º¢xÒÍx.  

 (C) {»® ©ØÖ® Pmih®, ö£õÔ ©ØÖ® C¯¢vμ® ©ØÖ® 

AøÓP»ß «x 5%, 10% ©ØÖ® 20% GÚ •øÓ¯õP 

÷u´©õÚ® JxUSP.  

 (D) 31.3.2018 AßøÓ¯ \μUQ¸¨¦ ¹. 1,40,000 

 (E) PhÜmk¨ £zvμ® «uõÚ öPõk£h ÷Ási¯ Ámi  

¹. 18,000  

 (F) CÖv £[Põuõ¯® ö\¾zv¯x ¹. 21,000 

  CÖv PnUøP u¯õº ö\´P.  

17. The following is the Balance Sheet of X Ltd., as on 
31.03.2018: 

Liabilities Rs. Assets Rs. 

2,00,000 shares of Rs. 10 each 20,00,000 L & B 10,00,000

12% debentures 10,00,000 P & M 15,00,000

Sundry creditors 3,00,000 Stock 6,00,000
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Liabilities Rs. Assets Rs. 

General reserve 2,50,000 Debtors 2,50,000

Dividend equalisation fund 2,00,000 Work in progress 3,00,000

P and L account 51,000 Furniture  25,000

  Cash at bank 1,26,000

 38,01,000  38,01,000

 The company was absorbed by A Ltd., on the above date. 
The consideration for the absorption is the discharge of 
the debentures at a premium of 5% taking over the 
liability in respect of the sundry creditors and a payment 
of Rs. 7 each in cash and one share of Rs. 5 in A Ltd at a 
market value of Rs. 8 per share in exchange for one share 
in X Ltd.  

 The cost of liquidation of Rs. 15,000 is to be met by the 
purchasing company. Prepare ledger accounts of X Ltd 
and Pass journal entries in the book of A Ltd. 

X ¼ªöhmiß 31.03.2018 AßøÓ¯ C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

2,00,000 £[SPÒ JßÖ 10 Ãu® 20,00,000 {»®, Pmih® 10,00,000

12% Phß £zvμ[PÒ 10,00,000 ö£õÔ, C¯¢vμ® 15,00,000

£Ø£» PhÜ¢÷uõºPÒ 3,00,000 \μUQ¸¨¦ 6,00,000

ö£õx Põ¨¦ 2,50,000 PhÚõÎPÒ 2,50,000

£[Põuõ¯ \©{ø» Põ¨¦ 2,00,000 •ß÷ÚÖ® ÷Áø»  3,00,000

C»õ£ |mh PnUS 51,000 AøÓP»ßPÒ 25,000

  Á[Q°¸¨¦ öμõUP® 1,26,000

 38,01,000  38,01,000

CUP®ö£Ûø¯ ÷©ØPõq® ÷uv°À A {Ö©® Dº¨¦ ö\´ux. 

©Ö£¯øÚ RÌUPshÁõÖ ö£ØÖU öPõÒÁuõP HØP¨£mhx. 

PhÜmk¨ £zvμ[PøÍ 5% •øÚ©zvÀ ÂkÂ¨£x, 

PhÜ¢÷uõºPÐUS ö£õÖ¨÷£ØÖU öPõÒÐuÀ X, 
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¼ªöhmiß JÆöÁõ¸ £[QØS® A ¼ªöhmiß ¹. 5 

©v¨¦øh¯ (\¢øu ©v¨¦ ¹. 8) £[S ©ØÖ® öμõUP® ¹. 7&I 

ÁÇ[SuÀ. {ÖÁÚ Pø»¨¦ ö\»Ä ¹. 15,000&zøu 

öPõÒ•uÀ P®ö£Û÷¯ HØÖUöPõÒÐuÀ ÷Ásk®.  

X ¼ªöhmiß HkPøÍ •izx øÁzx, A ¼ªöhmiß 

HkPÎÀ •uØSÔ¨÷£mk £vÄPøÍ u¸P.   

18. The Balance sheet of Zee Ltd. as on 31.12.2007 Was as 
follows.  

Liabilities Rs. Assets Rs. 

Share capital :  Goodwill 10,000 

12000 shares of Rs. 10 each  1,20,000  Machinery 71,350 

Less : Calls in arrears   Preliminary  

           (Rs. 3 per share)              9,000 1,11,000  expenses 1,500 

Creditors 15,425 Stock 25,275 

Provision for taxes 4,000 Bank 1,500 

  Profit and   

    loss a/c 20,800 

 1,30,425  1,30,425 

 Machinery was found overvalued by Rs. 10,000. It was 
decided to write down the value of this asset to its true 
value and to eliminate other fictitious assets by the 
adoption of the following course, 

 (a)  Forfeit the share in which calls are in arrears. 

 (b)  Reduce the paid up capital by Rs.3 per share. 

 (c)  Re-issue the forfeited shares at Rs.5 per share. 

 (d)  Utilise the provision for taxation if necessary.  

  Journalise and prepare the Balance sheet after 
carrying out the scheme. 
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 Zee {Ö©zvß 31.12.2007® |õøÍ¯ C¸¨¦{ø» SÔ¨¦ 

¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S •uÀ :  |Øö£¯º 10,000 

12,000 £[SPøÍ JßÖ   C¯¢vμ® 71,350 

¹. 10 Ãu®                                 1,20,000  öuõhUP   

PÈUP : AøÇ¨¦{¾øÁ  ö\»ÄPÒ 1,500 

  (£[S JßÖUS ¹. 3 Ãu®)     9,000 1,11,000 \μUQ¸¨¦ 25,275 

PhÜ¢÷uõºPÒ 15,425 Á[Q 1,500 

Á¸©õÚ Á› JxUS 4,000 C»õ£ |mh PnUS 20,800 

 1,30,425  1,30,425 

 C¯¢vμ©õÚx ¹. 10,000 AvP©õP ©v¨¤h¨£mhx öu›¯ 

Á¢ux. C¢u ö\õzvß ©v¨ø£ AuÝøh¯ Esø©¯õÚ 

©v¨¤ØS SøÓUP •iÄ ö\´¯¨£mhx. ÷©¾® ¤ßÁ¸® 

ö\¯ÀPÐUS Em£mk Cuμ PsoØS ¦»ÚõPõu 

ö\õzxUPøÍ ÷£õUöPÊu •iÄ ö\´¯¨£mhx.  

 (A) AøÇ¨¦ {¾øÁ°À EÒÍ £[SPøÍ JÖ¨¤øÇ¨¦ 

ö\´uÀ  

 (B) ö\¾zv¯ •u¼À £[S JßÖUS ¹. 3 CßÝ® 

SøÓzuÀ  

 (C) JÖ¨¤øÇ¨¦ ö\´u £[SPøÍ £[S JßÖUS ¹. 5 

Ãu® ©ÖöÁÎ±k ö\´uÀ.  

 (D) ÷uøÁ¨£mhõÀ Á¸©õÚ Á› JxUøP £¯ß£kzu 

•iÄ ö\´¯¨£mhx.  

  ÷©ØS›¯ vmhzøu |øh•øÓ¨£kzv¯ ¤ßÚº 

•uØSÔ¨÷£mk £vÄPøÍ²® C¸¨¦{ø»U 

SÔ¨ø£²® u¯õº ö\´P.  
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19. On 31st March 2016 the Balance sheets of H Ltd. and its 
subsidiary S Ltd. stood as follows: 

Liabilities H Ltd. 
Rs. 

 S Ltd. 
Rs. 

Assets H Ltd.
Rs. 

S Ltd.
Rs. 

Share Capital     Fixed Assets 5,50,000 1,00,000

  Rs. 10 each 8,00,000  2,00,000 75% shares in S Ltd   

General Reserve 1,50,000  70,000  at cost 2,80,000 - 

Profit and Loss     Stock 80,000 90,000

  account 90,000  55,000 Debtors 25,000 87,000

Creditors 80,000  60,000 Other Current Assets 2,25,000 1,28,000

Bills Payable 40,000  20,000    

 11,60,000  4,05,000  11,60,000 4,05,000

 Draw a consolidated balance sheet as at 31st March 2016 
after taking into consideration the following information : 

 (a)  H Ltd acquired the share son 31st July 2015. 

 (b) S Ltd earned a profit of Rs. 45,000 for the year 
ended 31st March 2016. 

 H ¼ªöhm ©ØÖ® Auß xønU P®ö£Û¯õÚ S 
¼ªöhmiß 31.03.2016&® |õøÍ¯ C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ H ¼ªöhm 

¹. 

 S ¼ªöhm 

¹. 
ö\õzxUPÒ H ¼ªöhm 

¹. 

S ¼ªöhm 

¹. 

£[S •uÀ JßÖ    {ø» ö\õzxUPÒ  5,50,000 1,00,000

¹. 10 Ãu® 8,00,000  2,00,000 S ¼ªöhmiÀ    

ö£õxU Põ¨¦ 1,50,000  70,000    Áõ[Q¯ 75% £[S    

C»õ£ |mh      (AhUP Âø»°À) 2,80,000 - 

  PnUS 90,000  55,000 \μUQ¸¨¦ 80,000 90,000 

 PhÜ¢÷uõºPÒ 80,000  60,000 PhÚõÎPÒ 25,000 87,000 

ö\¾zxuØS›¯ 

©õØÖa ^mk 

40,000  20,000 Cuμ |h¨¦ ö\õzxUPÒ 2,25,000 1,28,000

 11,60,000  4,05,000 11,60,000 4,05,000
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 ¤ßÁ¸® uPÁÀPøÍ PÁÚzvÀ öPõsk 31.03.2016 AßÖ 

J¸ J¸[Qøn¢u C¸¨¦{ø»U SÔ¨ø£ u¯õº ö\´P.  

 (A) 31.07.2015 AßÖ H ¼ªöhm £[SPøÍ S 

¼ªöhmihª¸¢x Áõ[Q¯x  

 (B) S ¼ªöhm ¹. 45,000 ö£Ö©õÚ C»õ£zøu 31.03.2016 

AßÖ Dmi¯x.  

20. From the following information of ABC Bank, prepare 
profit and loss account for the year ended 31st March, 
2013 (in 000s) 

Interest on Loans 2590

Commission 82

Discount on Bills 1060

Rent and Taxes 180

Directors Fees 30

Interest on savings bank deposits 680

Printing and Stationery 29

Interest of Fixed Deposits 3170

Payment to Employees 540

Interest on Cash Credit 2230

Interest on Overdrafts 1540

Auditors Fees 12

Postage and Telegrams 14

Sundry Charges  17

 Additional information: 

 (a)  Provide for Contingencies Rs.2, 00,000 

 (b) Transfer Rs. 15,57,000 to reserves and 

 (c) Transfer Rs. 2,00,000 to central government. 



D–1671 
    16

 ABC Á[Q°ß ¤ßÁ¸® uPÁÀPøÍ öPõsk 31.03.2013® 

|õ÷Íõk •i¯UTi¯ C»õ£ |mh PnUøP u¯õº ö\´P.  

(000’ B°μzvÀ) 

Phß «x ö£Ó¨£mh Ámi 2590

uμS 82

Esi¯À «uõÚ uÒÐ£i 1060

ÁõhøP ©ØÖ® Á› 180

C¯US|º Pmhn® 30

÷\ª¨¦ Á[Q øÁ¨¦ «uõÚ Ámi 680

Aa_ ©ØÖ® GÊxö£õ¸Ò 29

{ø» øÁ¨¦ «uõÚ Ámi 3170

öuõÈ»õÎPÐUS ö\¾zv¯x 540

öμõUP Phß «uõÚ Ámi 2230

Á[Q ÷©ÀÁøμ £ØÖ «uõÚ Ámi 1540

uoUøP¯õÍºPÒ Pmhn® 12

u£õÀ ©ØÖ© u¢v 14

£Ø£» ö\»ÂÚ[PÒ  17

 TkuÀ ÂÁμ[PÒ : 

 (A) Gvº£õμõu JxUS ¹. 2,00,000 

 (B) ¹. 15,57,000 ö£Ö©õÚ öuõøP Põ¨¤ØS ©õØÓ 

÷Ásk®.  

 (C) ¹. 2,00,000 ö£Ö©õÚ öuõøP ©zv¯ Aμ]ß {vUS 

©õØÓ ÷Ásk®.  

 

———————— 
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MANAGEMENT ACCOUNTING  
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you understand by Management Accounting? 

 ÷©»õsø© PnUQ¯À £ØÔ }Âº ¦›¢x öPõÒÁx GßÚ? 

2. What do you mean by Comparative Statement? 

 J¨¤mk AÔUøP £ØÔ {Ãº AÔÁx GßÚ? 

3. State any two significance of Ratio analysis. 

 ÂQu £S¨£õ´Âß H÷uÝ® Cμsk •UQ¯zxÁzøuU 

TÖP. 

4. What do you mean by Debt- Equity Ratio? 

 Phß–ö£õx ÂQu® £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
31041/33541
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5. Define fund flow statement. 

 {v Kmh AÔUøPø¯ Áøμ¯ÖUP. 

6. What do you mean by Non-Cash items? 

 öμõUP® \õμõu CÚ[PÒ £ØÔ AÔÁx GßÚ? 

7. What is Budgeting? 

 vmh¨£mi¯À GßÓõÀ GßÚ? 

8. What is Production Budget? 

 EØ£zv vmh¨£mi¯À GßÓõÀ GßÚ? 

9. What is meant by margin of safety? 

 £õxPõ¨¦ GÀø» £ØÔ AÔÁx GßÚ? 

10. What is profit volume ratio? 

 C»õ£ AÍÄ ÂQu® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Briefly discuss the scope of Management 
Accounting. 

  ÷©»õsø© PnUQ¯¼ß GÀø»ø¯ _¸UP©õP 

ÂÁõvUP. 

Or 

 (b) What are the limitations of Management 
Accounting? 

  ÷©»õsø© PnUQ¯¼ß SøÓ£õkPÒ ¯õøÁ? 
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12. (a) What are the objectives of financial statements? 

  {v{ø» AÔUøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) From the following information compute the trend 
percentages taking 2010 as the base year. 

 (Rs. in lakhs) 
Year 2010 2011 2012 2013 2014

Sales revenue 30 35 28 36 40 

Operating profit 6 8 5 8 9 

Year 2015 2016 2017   

Sales revenue 25 60 42   

Operating profit 4 12 10   

  2010 Bsøh Ai¨£øh BshõP öPõsk ¤ßÁ¸® 

ÂÁμ[PÎ¼¸¢x ÷£õUS \uÃuzøu PnUQkP. 

       ( ¹£õ´ C»m\zvÀ) 

Bsk 2010 2011 2012 2013 2014

ÂØ£øÚ Á¸©õÚ® 30 35 28 36 40 

ö\¯À£õmk C»õ£® 6 8 5 8 9 

Bsk 2015 2016 2017   

ÂØ£øÚ Á¸©õÚ® 25 60 42   

ö\¯À£õmk C»õ£® 4 12 10   

13. (a) Following informations are related to two 
companies. 

 Company A (Rs) Company B (Rs) 

Cash 18,000 14,000 

Debtors 1,42,000 3,20,000 

Closing Stock 1,80,000 5,40,000 

Bills Payable 27,000 1,00,000 
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Creditors 50,000 4,00,000 

Outstanding Expenses 15,000 12,500 

Tax payable 75,000 1,00,000 

Calculate liquidity ratios for the two companies. 

  ¤ßÁ¸® uPÁÀPÒ BÚx C¸ P®ö£ÛPÐUS E›¯x. 

 P®ö£Û A 

(¹.) 

P®ö£Û B (¹.) 

öμõUP® 18,000 14,000 

PhÚõÎPÒ 1,42,000 3,20,000 

CÖv \μUQ¸¨¦ 1,80,000 5,40,000 

ö\¾zuØS›¯ ©õØÖa^mk 27,000 1,00,000 

PhÜ¢÷uõºPÒ 50,000 4,00,000 

öPõk£h ÷Ási¯ ö\»ÂÚ[PÒ 15,000 12,500 

ö\¾zu ÷Ási¯ Á› 75,000 1,00,000 

  Cx P®ö£ÛPÐUS }ºø© ÂQuzøu PnUQkP. 

Or 

 (b) From the following information calculate funds from 
operations. 

 2006 (Rs) 2007 (Rs) 

Profit and Loss account 25,000 40,000 

General Reserve 40,000 45,000 

Good Will  7,000 4,000 

Preliminary expenses 5,000 3,000 

Provision for    

depreciation on machinery 10,000 12,000 

Refund of tax – 5,000 
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 

QøhUS® {vø¯U PnUQkP. 

 2006 (¹.) 2007 (¹.) 
C»õ£|mh PnUS 25,000 40,000 
ö£õxUPõ¨¦ 40,000 45,000 
|Øö£¯º 7,000 4,000 
öuõhUP ö\»ÂÚ[PÒ 5,000 3,000 
C¯¢vμ® «uõÚ ÷u´©õÚ   
JxUS 10,000 12,000 
Á¸©õÚ Á› v¸¨¤¯x – 5,000 

14. (a) Krishna Ltd, earned profit of Rs.2,00,000 after 
changing or crediting the following items to its 
Profit and Loss account. 

Particulars Rs. 
Profit on sale of investments 4,000 
Loss on sale of building 9000 
Depreciation of fixed assets 7000 
Amortization of goodwill 2000 

The following additional details are available: 
 1.4.2015 31.3.2016 

 Rs. Rs. 

Bills payable 5,000 8,000 

Creditors 12,000 16,000 

Outstanding expenses 2,000 1,000 

Bills Receivable 20,000 18,000 

Debtors 40,000 60,000 

Prepaid expenses 2,000 3,000 

Accrued incomes 5,000 8,000 

Income received in advance 2,000 1,000 

  Calculate the Cash from operations for the year 
ending 31.3.2016. 
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  »õ£ |mh PnUQÀ £ØÖ ©ØÖ® ÁμÄ øÁzu ¤ßÚº 

Q¸ènõ ¼ªöhm ¹. 2,00,000 ö£Ö©õÚ »õ£zøu 

Dmi¯x. 

Â£μ[PÒ ¹. 

•u½kPøÍ ÂØÓvÀ »õ£® 4,000 

Pmihzøu ÂØÓvÀ |mh® 9000 

{ø»a ö\õzxUPÒ «uõÚ ÷u´©õÚ® 7000 

÷£õUöPÊu¨£mh |Øö£¯º 2000 

  ¤ßÁ¸® TkuÀ uPÁÀPøÍ EÒÍÚ.  

   

 1.4.2015 31.3.2016 

 ¹. ¹. 

ö\¾zuØS›¯ ©õØÖa^mk 5,000 8,000 

PhÜ¢÷uõº 12,000 16,000 

öPõk£h ÷Ási¯ ö\»ÄPÒ 2,000 1,000 

ö£ÖuØS›¯ ©õØÖa^mk 20,000 18,000 

PhÚõÎPÒ 40,000 60,000 

•ßTmi ö\¾zv¯øÁ 2,000 3,000 

ö£Ó÷Ási¯ Á¸©õÚ® 5,000 8,000 

•ßTmi ö£ØÓ Á¸©õÚ® 2,000 1,000 

  31.03.2016 B® |õ÷Íõk •i²® öμõUP 

ö\¯À£õmøhU PnUQkP. 

Or 
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 (b) With the following data for a 60% activity prepare a 
flexible budget for production at 80% and 100% 
activity: 

  Production at 60% – 600 units 

  Materials Rs. 100 per unit 

  Labour Rs.40 per unit 

  Expenses Rs. 10 per unit 

  Administrative Expenses Rs.30,000 (60% fixed) 

  Factory Expenses Rs,40,000 (40% Fixed). 

  ¤ßÁ¸® 60% ö\¯À£õmiøÚ uPÁÀPøÍU öPõsk 

ö|QÌÄz vmhzøu 80% ©ØÖ® 100% zvØS u¯õº 

ö\´P. 

  60% EØ£zv°À – 600 A»SPÒ 

  ‰»¨ö£õ¸Ò Kº A»QØS ¹.100 

  T¼ Kº A»QØS ¹.40 

  ö\»ÂÚ[PÒ Kº A»QØS ¹.10 

  {ºÁõP ö\»ÂÚ[PÒ ¹.30,000 (60% {ø»¯õÚx) 

  Bø»a ö\»ÄPÒ ¹.40,000 (40% {ø»¯õÚx) 

15. (a) From the following particulars find out the BEP. 
What will be the selling price per unit if B.E.P is to 
be brought down to 9,000 units? 

 Rs. 

Variable cost per unit 75 

Fixed expenses 2,70,000 

Selling price per unit 100 
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£ |mh©ØÓ ¦ÒÎø¯ 

PnUQkP. ÷©¾® C»õ£ |mh ©ØÓ ¦ÒÎ¯õÚx 9,000 

A»QØS SøÓ²® ö£õÊx J¸ A»QØPõÚ ÂØ£øÚ 

Âø» GßÚ? 

 ¹. 

J¸ A»QØPõÚ ©õÖ® ö\»Ä 75 

{ø»¯õÚ ö\»ÂÚ[PÒ 2,70,000 

J¸ A»QØPõÚ ÂØ£øÚ Âø» 100 

Or 

 (b) A company has a P/V ratio of 40%. By what 
percentage must sales be increased to offset:  

  (i)  10% reduction in selling price 

  (ii)  20% reduction in selling price. 

  J¸ {Ö©©õÚx 40% C»õ£ AÍÄ ÂQuzøu 

öPõskÒÍx. ¤ßÁ¸® {ø»PÎÀ GzuøÚ \uÃu® 

ÂØ£øÚ°ß AÍøÁ AvP›UP ÷Ásk®. 

  (i) ÂØ£øÚ Âø»°À 10% SøÓ¢uõÀ 

  (ii) ÂØ£øÚ Âø»°À 20% SøÓ¢uõÀ. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the difference between management accounting 
and cost accounting? 

 ÷©»õsø© PnUQ¯¼ØS® AhUPÂø» PnUQ¯¼ØS® 

Cøh÷¯ EÒÍ ÷ÁÖ£õmøhU TÖP. 
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17. Prepare Trading, Profit and Loss account and balance 
sheet for the following data: 

Net Current assets Rs. 1,00,000 

Paid up Capital Rs. 3,00,000 

Current Ratio 1.8:1 

Liquid Ratio 1.35:1 

Debt collection period 365 Days 

Fixed assets to shareholders equity 80% 

Gross Profit Ratio 25% 

Net Profit to Paid up capital 20% 

Stock turnover ratio 5 times 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x Â¯õ£õμ, »õ£|mh PnUS 

©ØÖ® C¸¨¦{ø»U SÔ¨ø£ {Ãº u¯õ›UP. 

{Pμ |h¨¦ ö\õzxUPÒ ¹.  1,00,000 

ö\¾zu¨£mh ‰»uÚ® ¹. 3,00,000 

|h¨¦ ÂQu® 1.8:1 

}ºø© ÂQu® 1.35:1 

Phß Á`À Põ»® 365 |õmPÒ 

£[SuõμºPÒ {v°À {ø»a ö\õzxUPÒ 80% 

ö©õzu »õ£ ÂQu® 25% 

ö\¾zu¨£mh ‰»uÚzvØS {Pμ »õ£® 20% 

\μUQ¸¨¦ _ÇØ] ÂQu® 5 uhøÁPÒ 

18. Bring out the differences between Funds flow statement 
and Cash flow statement. 

 {v Kmh AÔUøPUS®, öμõUP Kmh AÔUøPUS® 

Cøh÷¯²ÒÍ ÷ÁÖ£õmøh u¸P. 
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19. A newly started company wishes to prepare cash budget 

from January. Prepare Cash Budget for the first six 

months from the following estimated revenue and 

expenses. 

    Overheads 

Month Total Sales Materials Wages Production Selling and 

distribution

 Rs. Rs. Rs. Rs. Rs. 

January 20,000 20,000 4,000 3,200 800

February 22,000 14,000 4,400 3,300 900

March 28,000 14,000 4,600 3,400 900

April 36,000 22,000 4,600 3,500 1,000

May 30,000 20,000 4,000 3,200 900

June 40,000 25,000 5,000 3,600 1,200

 Cash balance on 1st January was Rs. 10,000. A new 

machinery is to be installed at Rs.20,000 credit, to be 

repaid by two equal installments in March and April. 

Sales commission @ 5% on total sales is to be paid within 

a month of following actual sales. Rs. 10,000 being the 

amount of 2nd call may be received in March. Share 

premium amounting to Rs.2,000 is also obtainable with 

the 2nd call. 

 Period of credit allowed by suppliers - 2 months 

 Period of credit allowed to customers - 1 month 

 Delay in payment of overheads - 1 month 

 Delay in payment of wages - 1/2 month 

 Assume cash sales to be 50% of total sales. 
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 J¸ ¦vuõP  Bμ®¤UP¨£mh {Ö©©õÚx áÚÁ› ©õuzvÀ 

C¸¢x öμõUP vmh¨£mi¯ø» u¯õ›UP Â¸®¤¯x. 

RÌUPsh Gvº£õºUP¨£k® Á¸Áõ´ ©ØÖ® 

ö\»ÂÚ[PÎ¼¸¢x •uÀ BÖ ©õu Põ»zvØS öμõUP 

vmh¨£mi¯ø» u¯õ›UP. 

     ÷©Øö\»ÄPÒ 

©õu® ö©õzu 

 ÂØ£øÚ 

‰»¨ 

ö£õ¸ÒPÒ

 T¼ EØ£zv ÂØ£øÚ  

©ØÖ®  

£Qº¢uÎ¨¦ 

 ¹. ¹.  ¹. ¹. ¹. 

áÚÁ› 20,000 20,000 4,000 3,200 800

¤¨μÁ› 22,000 14,000 4,400 3,300 900

©õºa 28,000 14,000 4,600 3,400 900

H¨μÀ 36,000 22,000 4,600 3,500 1,000

÷© 30,000 20,000 4,000 3,200 900

áüß 40,000 25,000 5,000 3,600 1,200

 áÚÁ› 1 AßÖ øP°¾ÒÍ öμõUP C¸¨¦ ¹.10,000, 

¹.20,000 ö£Ö©õÚ J¸ ¦v¯ C¯¢vμ® PhÝUS Áõ[Q 

{ÖÁ¨£mhx. AzöuõøP¯õÚx ©õºa ©ØÖ® H¨μÀ 

©õu[PÎÀ C¸ \© uÁønPÍõP ö\¾zu ÷Ásk®. ö©õzu 

ÂØ£øÚ°À 5% ÂØ£øÚ PÈÄ PnUQh¨£mk ÂØ£øÚ 

|h¢u Akzu ©õuzvÀ ö\¾zu ÷Ásk®. ¹.10,000 ö£Ö©õÚ 

Cμshõ® AøÇ¨¦ öuõøP ©õºa ©õuzvÀ ö£Ó ÷Ásk®. 

C¢u Cμshõ® AøÇ¨¦ öuõøP÷¯õk ¹.2,000 ö£Ö©õÚ 

£[S •øÚ©•® ö£Ó ÷Ásk®. 

 \μUPÎz÷uõμõÀ ÁÇ[P¨£mh Phß Põ»® – 2 ©õu[PÒ 

 ÁõiUøP¯õÍ¸US ÁÇ[P¨£mh Phß Põ»® – 1 ©õu® 

 ÷©Øö\»ÄPøÍ ö\¾zxÁuØPõÚ Põ»® –1 ©õu® PÈzx 

 T¼ø¯ ö\»zxÁuØPõÚ Põ»® –1/2 ©õu® PÈzx 

 ö©õzu ÂØ£øÚ°À 50% öμõUP ÂØ£øÚ GÚ öPõÒP. 
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20. The sales turnover and profit during two years were as 
follows : 

Year Sales Profit 

2016 1,50,000 20,000 

2017 1,70,000 25,000 

 You are required to calculate: 

 (a) P/V Ratio 

 (b) Breakeven point 

 (c) Sales required to earn a profit of Rs.40,000. 

 Cμsk BskPÐUPõÚ ÂØ£øÚ ©ØÖ® C»õ£[PÒ 

¤ßÁ¸©õÖ. 

BskPÒ ÂØ£øÚ C»õ£® 

2016 1,50,000 20,000 

2017 1,70,000 25,000 

 ¤ßÁ¸£ÁÚÁØøÓ PnUQkP. 

 (A) C»õ£ AÍÄ ÂQu® 

 (B) C»õ£ |mh ¦ÒÎ 

 (C) ¹. 40,000 C»õ£® Dmh ÷uøÁ¨£k® ÂØ£øÚ 

—————— 
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M.Com. (F&C) DEGREE EXAMINATION, DECEMBER 2021. 

Fourth Semester 

E-COMMERCE 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What is the concept of E-commerce? 

2. What is goals of supplier management? 

3. What are the benefits of inventory management? 

4. Write a short note on Name changing. 

5. What is the prepaid electronic token? 

6. Write a short note on electronic cash. 

7. What is the TCP/IP? 

8. Define portal. What is the function of portal? 

9. Give the major components of CRM. 

10. What is an electronic market? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the advantages and disadvantages of  
E-commerce? 

Or 

 (b) Explain the E-Logistic and its implementation in 
business houses. 

12. (a) What are the goals, function, strategies of supply 
chain management? Explain all the three in brief. 

Or 

 (b) Write down the various categories of Malware and 
the methods attackers employ to destroy the 
components of an e-commerce system. 

13. (a) What are the electronic wallets and why are they 
useful? Explain in about 100 words. 

Or 

 (b) Give an account of the difference options in 
electronic cash. Write the advantages and 
disadvantages of electronic cash. 

14. (a) How TCP/IP helps in transferring packets over the 
Internet? Give a Detail account of it. 

Or 

 (b) How do portals act as Inform diary? 

15. (a) What is e-CRM? Compare it with CRM. 

Or 

 (b) What is permission marketing? How is it built? 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain SCE framework with a sketch. 

17. Explain Transportation evolving-from transaction to SCE 
with a sketch. 

18. How do active page contents create problems for an  
e-commerce system? Write down some of such 
technologies and their impact on an e-commerce system. 

19. Give an account of various prepaid electronic payments 
systems and make a comparison between them. 

20. Elaborate the main sources of income for portal. 

 

—————— 
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Time : Three hours Maximum : 75 marks 

PART A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What is research? 

2. Define Research Hypothesis. 

3. What are the characteristics of research? 

4. Define Research Problem. 

5. Write note the primary data collection. 

6. What is Attitude? 

7. Define Questionnaire Method. 

8. What do you mean by ANOVA? 

9. What is Research Report? 

10. Define Ethics in Research. 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the various kinds of research? 

Or 

 (b) Discuss the importance of case study method. 

12. (a) How will you write research report? 

Or 

 (b) Discuss the characteristics and importance of good 
hypothesis. 

13. (a) Explain about the sampling types and its design. 

Or 

 (b) Explain the types of measurement scales. 

14. (a) Explain the centralized in house editing. 

Or 

 (b) Explain the Bivariate analysis of data. 

15. (a) What are the concepts in Testing of Hypothesis? 

Or 

 (b) Explain the Chi-square analysis. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE out of Five questions. 

16. Explain the different types of research. 

17. Explain the advantages and disadvantages of 
questionnaires. 
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18. Explain the personal interview method. 

19. ‘‘ANOVA helps in analyzing the results’’. Explain. 

20. Discuss the uses of library and internet in research. 

—————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What is banker? 

2. What is donation mortis cause? 

3. Explain the Maintenance of a pass book. 

4. What is double crossing? 

5. Define ‘payment in due course’. 

6. What is conversion? 

7. What is factoring service? 

8. What is mean by risk? 

9. What is the return premium? 

10. Write short note on Insurance in International Economy. 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What is the period of limitation for a banking debt? 

Or 

 (b) Why do business people prefer a current account? 

12. (a) What is the effect of sending confirmation slip along 
with a pass book? 

Or 

 (b) What do you mean by opening of crossing? Who can 
do this? 

13. (a) Distinguish between Garnishee Order nisi and 
Garnishee Order absolute. 

Or 

 (b) Give two instances under which a banker can act as 
a holder for value. 

14. (a) Write short note on: 

  (i) Credit card 

  (ii) Gift cheque. 

Or 

 (b) Write explanatory notes on types of pure risk. 

15. (a) What are features of life assurance? 

Or 

 (b) Explain the special features Insurance Regulatory 
and Development Authority. 



D–1681 
    3

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Define the terms ‘banker’ and customer’ and bring out the 
relationship that exists between them. 

17. Distinguish between a current account and savings bank 
account. 

18. Discuss the concept of ‘Settled Account’ as applied to a 
pass book. 

19. What is crossing? Explain its different kinds with 
examples and bring out their significance. 

20. Explain the characteristics of insurable risk. 

 

—————— 


